
1. This Booklet contains four tests as follows :
Test I - English Language Q.Nos. 1–50
Test II - General Awareness Q.Nos. 51–100
Test III - Data Inter. & Data Anal. Q.Nos. 101–150
Test IV - Reasoning Q.Nos. 151–200
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4. There will be penalty for wrong answers marked by you.
For each question for which a wrong answer has been
given by you, one-fourth or 0.25 of the marks assigned
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5. Rough work, if you want to do any, is to be done in this
booklet itself and not on the answersheet. For this
purpose use the empty space in the margin or anywhere
else you find in this booklet. Do not use any other paper.

6. Indicate your answers on the separate answersheet
(given at the end of the booklet), using HB Pencil. Follow
the instructions given on the answersheet for indicating
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7. Your answersheet contains answer-spaces for answering
200 questions. Use 200 answer spaces for answering the
200 questions given in this booklet.

8. Do not open the booklet Until you are told to do so.
When the instruction for opening the booklet is given,
do not try to remove the wire staples at the left. Insert
the blunt end of your pencil under the sticker and tear it
to open the booklet.

9. Immediately after opening the booklet, verify that all the
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test. In case the booklet is defective get it replaced by
another test booklet.
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Read the directions (given below) carefully.

1. bl  i qfLr dk esa fuEufyf[ kr  pkj  i z' ukofy; ka gSa %
i z' ukoyh I - vaxzst h Hkk"kk i z-Ø- 1–50
i z' ukoyh II - l kekU;  l psr r k i z-Ø- 51–100
i z' ukoyh III - l kaf[ ; dh i z-Ø- 101–150
i z' ukoyh IV - r dZ' kfDr i z-Ø- 151–200

2. bu pkj  i z' ukofy; ksa ds mÙkj  nsus ds fy,  vki dks dqy 2:00 ?kaVs dk
l e;  fn; k t k, xkA i z' ukofy; ksa ds fy,  vyx&vyx l e;  ugha gSA
vki  vi uh bPNk ds vuql kj  l e;  dk l afoHkkt u dj  l dr s gSa] i j ar q
vki dks Lej .k j [ kuk pkfg,  fd bl  i j h{kk esa l Qy gksus ds fy,
vki dks pkj ksa i z' ukofy; ksa esa vyx&vyx l Qy gksuk vko' ; d gSA

3. r dZ' kfDr ] l a[ ; kRed vfHk; ksX; r k vkSj  l kekU;  l psr r k dh i z' ukofy; ka
fgUnh vkSj  vaxzst h nksuksa Hkk"kkvksa esa Ni h gqbZ gSaA fgUnh : i kUr j  ck, a
r j Q ds i Uus i j  vkSj  vaxzst h nkfgus r j Q ds i Uus i j  Ni s gq,  gSaA

4. vxj  vki  xyr  mÙkj  nsaxs r ks naMLo: i  vki ds vadksa esa dVkSr h dh
t k, xhA , sl s fdl h Hkh i z' u ds fuèkkZfj r  vadksa esa l s] ft l dk vki us
xyr  mÙkj  fn; k gS] naM ds : i  esa , d&pkSFkkbZ ; k 0.25 vad dkV
fy,  t k, axsA

5. j Q dke] ; fn vki  dj uk pkgsa] r ks bl  i qfLr dk esa gh dj uk pkfg,
u fd mÙkj i =k i j A bl  gsr q gkf' k,  dh vFkok vU; =k mi yCèk [ kkyh
t xg dk mi ; ksx dhft ,  vU;  fdl h dkxt  dk mi ; ksx u dhft , A

6. vi us mÙkj  vyx mÙkj i =k i j  , p-ch- i sfUl y dk i z; ksx dj  n' kkZb, A
mÙkj  n' kkZus ds fy,  mÙkj i =k esa fn,  x,  vuqns' kksa dk i kyu dhft , A

7. vki ds mÙkj i =k esa mÙkj  n' kkZus ds fy,  200 mÙkj LFkku gSaA bl
i qfLr dk esa fn,  gq,  200 i z' uksa ds mÙkj  nsus ds fy,  200 mÙkj LFkkuksa
dk mi ; ksx dhft , A

8. t c r d funsZ' k u feys bl  i qfLr dk dks er  [ kksfy, A i qfLr dk
[ kksyus dk funsZ' k feyus i j  i qfLr dk ds ck, a fdukj s i j  yxs gq,  eqM+s
gq,  r kj  fudkyus dk i z; kl  u dj saA i safl y ds fi Nys Hkkx dh enn
l s nkfguh r j Q yxs LVhdj  dks QkM+dj  i qfLr dk dks [ kksysaA

9. i qfLr dk [ kksyr s gh t kap yhft ,  fd l Hkh i "̀B ft u i j  i z' u 1 l s
200 gSa] l gh i zdkj  l s Ni s gq,  gSa vkSj  fQj  i z' ukofy; ksa ds mÙkj  nsuk
i zkj aHk dhft , A ; fn i qfLr dk nks"ki w.kZ gks r ks bl s ml h i z' ukoyh i zk: i
Øekadokyh nwl j h i z' ui qfLr dk l s cnyok yhft , A
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Test I

English Language

Directions (Q. 1-10): Read the following passage carefully and answer the questions given below it. Certain words in
the passage have been printed in bold to help you locate them while answering some of the questions.

As a concept, outsourcing is no doubt gaining ground. But there are many who still keep away from it. First, there’s a
perception that outsourcing could adversely impact the quality of service. “We believe that directly controlling our stores is
the only way to maintain quality. If we outsource, quality would suffer and that would have a negative rub-off on our business
as a whole. You can do outsourcing only if you’re willing to shut your eyes to many things,” says the Managing Director of
a company.

Despite being the dominant partner in the relationship, the outsourcer doesn’t always have all the advantages. For one,
very few entrepreneurs are willing to take on a new outsource, unless it comes with a guarantee of a certain level of sales. The
trade refers to it as the minimum guarantee clause, which means that if an outsourcee is unable to reach an anticipated sales
level, he will be compensated for the balance amount. This invariably acts as an incentive for outsourcees to be lax in
developing the business. Yet, given that there are too many outsourcers chasing too few potential outsourcees, the minimum
guarantee clauses often become a crucial deciding factor in choosing an outsource.

Of course, there are ways of working around this. The Rs 14-crore-chain of personal grooming and fitness clinics tried
the outsourcing route two years ago by handing over management of the outlet to its outsourcee. That agreement did not
work. “Ours is a very critical service. Our business is about people’s health and well-being. If the standards are not kept up, one
mistake will wipe out so many years of goodwill. And since we saw maintaining the right service levels was a problem, we
decided to opt out of outsourcing,” says a managing director. To make things simpler, it set up joint ventures with interested
parties and kept 65% of the stake and, therefore, management control in its hands. Its future plans of opening specialised
fitness centre chains and good health eateries are also based on the current 65 : 35 model.

Players with a large existing outsourced network have an incumbency problem: upgrading the quality of the outlets in
line with changing customer needs. The logic may seem reasonable, but convincing an outsourcee to invest more in upgradation
is seldom easy.

Bentex wants to move beyond the retail ambience it is offering to its customers. “We have grown to a fair level with our
outsourcees but times have changed. We need to move on,” says executive director.

Won’t it unsettle the 430-odd Bentex outsourcees ? “We are only setting up 25 of these shops to show our outsourcees
it can work. The rest we want to outsource,” affirms marketing manager. But potential outsourcees will be up against a hurdle:
the stores will be allowed to stock only branded Bentex products, from earrings to bangles. This may put off consumers who
seek variety. Currently, Bentex allows its outsourcees to outsource 35% of the products in the outlet. “There may be a certain
sense of independence that an outsourcee gets by choosing some stock but we think it is a habit. Once he realises the
convenience of sourcing from just one place, he will upgrade. But Bentex realises the psychological impact of starting its own
retail stores.”

So, how does outsourcing work? “It’s like a marriage,” says general manager, marketing. The stakes are high on both
sides. The outsourcer gives up his precious asset, the brand, and the outsourcee parts with his right to operate alone. In the
end, implicit trust is at the cornerstone of the relationship between an outsourcee and an outsourcer.

1. Which of the following is a disadvantage of outsourcing?
1) The relationship of partners are at stake.
2) The quality of the business is always on the higher side.
3) It is very difficult to control the quality.
4) The profit margins are low.
5) None of these

2. What compensation does the outsource expect?
1) The cost of maintenance should be borne by the outsourcer.
2) In the event of loss, outsourcer should buy back the stock.
3) For declining sales level, outsourcer should not be held responsible.
4) The ambience should be the responsibility of the outsourcer.
5) None of these
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3. Outsourcing works best if

1) the relations between the partners are symbiotic. 2) the outsourcer accepts a submissive role.
3) high-cost ambience is maintained. 4) variety is sacrificed at the cost of high quality.
5) None of these

4. What prohibits entrepreneurs to take up new outsource?
1) Dominance of outsourcer 2) Fear of losing existing business
3) High overheads in maintaining ambience 4) Uncertainty in reaching the sales target
5) None of these

5. What puts off customers?
1) Lack of ambience 2) Unhealthy competition 3) Poor quality standards
4) Absence of variety 5) None of these

Directions (Q. 6-8): Choose the word/phrase which is most nearly the same in meaning as the word/phrase given in
bold as used in the passage.

6. shut your eyes
1) look over 2) sleep 3) avoid storm 4) winking 5) overlook

7. rub off
1) jealousy 2) rivalry 3) impact 4) pressure 5) publicity

8. players
1) entrepreneurs 2) sportsmen 3) workers 4) partners 5) politicians

Directions (Q. 9-10): Choose the word/phrase which is most opposite in meaning to the word/phrase printed in bold as
used in the passage.

9. implicit
1) explicit 2) candid 3) clear 4) inbuilt 5) outspoken

10. dominant
1) progressive 2) weak-headed 3) submissive 4) laid-off 5) hostile

Directions (Q. 11-15): In each of the following sentences there are two blank spaces. Below each sentence there are
five pair of words denoted by numbers 1, 2, 3, 4 and 5. Find out which pair of words can be filled up in the blanks in the sentence
in the same sequence to make the sentence meaningfully complete.

11. He objected to the proposal because it was founded on a ________ principle and also was ________ at times.
1) faulty — desirable 2) imperative — reasonable 3) wrong — inconvenient
4) sound — acceptable 5) conforming — deplorable

12. The criterion for ________ a player should be based on his recent performance; but unfortunately, the journalists are
________ to be carried away by earlier successes.
1) condemning — satisfying 2) judging — prone 3) revealing — reluctant
4) eager — acclaiming 5) criticising — clean

13. For the last half century he ________ himself to public affairs ________ taking a holiday.
1) by — committed 2) after — offered 3) devoted — without
4) sacrificed — after 5) prepared — before

14. You will see signs of ________ everywhere, which speak well for the ________ of these people.
1) decoration — senses 2) clear — debris 3) beauty — careful
4) industry — prosperity 5) repairs — extravaganza
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15. The police arrested Ramesh on a ________ of theft but for lack of evidence ________ him.

1) crime — imprisoned 2) punished — complaint 3) left — condition
4) tip — absconding 5) charge — released

Directions (Q. 16-20): Read each sentence to find out whether there is any error in it. The error, if any, will be in one
part of the sentence. The number of that part is the answer. If there is no error, the answer is 5). (Ignore the errors of
punctuation, if any.)

16. 1) Ever since the dawn of civilisation /2) persons in power /3) have tried to always /4) supervise or control education. /
5) No error

17. 1) Progress in life /2) depends a good deal /3) on crossing one /4) threshold upon another. /5) No error

18. 1) The apathy of mostly state /2) in failing to tackle /3) the problem of adult literacy /4) is also to blame for this scenario.
/5) No error

19. 1) The opinions and comments of newspapers/ 2) can influence the life /3) of a nation only /4) when they are read by its
people. /5) No error

20. 1) Several time in the history /2) of the world, particular countries /3) and cities have attained /4) a high degree of
civilisation. /5) No error

Directions (Q. 21-25): Rearrange the following seven sentences (A), (B), (C), (D), (E), (F) and (G) in the proper
sequence to form a meaningful paragraph; then answer the questions given below them.

(A) Equally, if you show disloyalty to your company or colleagues, your manners will be seen as unacceptable.
(B) Much of this book is concerned with this golden rule.
(C) The other half is good manners invoke taking positive action to make the other person feel good about your

relationship with him.
(D) They indicate to the person you are dealing with whether you can be relied on to act correctly and fairly when he

does business with you.
(E) Avoiding these negatives is only half the story.
(F) Manners are the patterns of behaviour.
(G) If he thinks that you are boorish, selfish or undisciplined your relationship is unlikely to be proper.

21. Which of the following will be the SEVENTH sentence?
1) C 2) D 3) E 4) B 5) A

22. Which of the following will be the FIRST sentence?
1) G 2) F 3) A 4) B 5) C

23. Which of the following will be the THIRD sentence?
1) G 2) E 3) F  4) B 5) A

24. Which of the following will be the FIFTH sentence?
1) A 2) G 3) E 4) F 5) D

25. Which of the following will be the SIXTH sentence?
1) B 2) D 3) F 4) A 5) C

Directions (Q. 26-35): In the following passage there are blanks, each of which has been numbered. These numbers
are printed below the passage and against each, five words are suggested, one of which fits the blank appropriately. Find out
the appropriate word in each case.

The Indian Meteorological Department has sought permission to (26) a Doppler weather radar system - used for long-
range weather-forecasting. The Government had (27) the equipment in the wake of 26/7 and (28) to find a suitable location
have been on (29) then. The key factor is that the radar’s antenna is to be installed in an (30) area of a few square kilometres
far from highrises, (31) at an altitude. The radar would also need to be (32) near the coast as it would be used to (33) high-
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intensity storms or cyclones. MHCC has hinted it is willing to (34) clearance for the Colaba site, but only after (35) the location.
It was after scouting for locations across the city that the office proposed to locate the radar near the observatory. But the
problem of finding a suitable site within area still remains. The area is very congested. We will have to locate a site not only from
the heritage point of view but also the radar needs to be at a height which is higher than all the buildings in the area. The naval
residential buildings which are in the area are 13-14 storeys high. If at all it is to be set up at Colaba then it must be above the
existing structures so that signals reaching the antenna are not blocked.

26. 1) detach 2) install 3) launch 4) fix 5) attach

27. 1) granted 2) realised 3) abstained 4) seen 5) sanctioned

28. 1) try 2) project 3) commission 4) efforts 5) worked

29. 1) since 2) until 3) already 4) at 5) for

30. 1) inseparable 2) encumbered 3) unencumbered 4) unpossessed 5) occupied

31. 1) hopelessly 2) hoping 3) enacting 4) preferably 5) undesirably

32. 1) erected 2) located 3) stalled 4) tied 5) build

33. 1) deduct 2) examine 3) feel 4) evaluate 5) detect

34. 1) advocate 2) launch 3) pass 4) grant 5) grand

35. 1) examining 2) study 3) scanning 4) combing 5) watching

Directions (Q. 36-50): Read the following passage carefully and answer the questions given below it. Certain words/
phrases are given in bold to help you locate them while answering some fo the questions.

Almost everything has implications for the poor, whether it is education, health, family planning, employment, or the
environment, or the environment: they are all fields where current performance hurts the poor in paprticular. Policies that
enhace economic growth, and agriculture growth, will favour reduction of poverty. The lives of poor people are most threatened
by potential shortages of water and low water quality, and by air pollution; pressures on common pool resources also bear
most heavily on the poor, and on women in particular.

Since half of India’s poor are in the persistent category, the country’s anti-povery programmes can at best, have only a
limited impact. They are excessively scattered and unrelated to basic processes in the economy. They focus on regions with
particular problems, such as drought prone areas; subsidy programmes such as the Targeted Public Distribution System for
food; a number of employment-related schemes, and social security measures for the very poor. Most of them have been
shown to be inefficient in terms of the proportion of expenditure actually reaching the poor, and in terms of their lasting effects.

But greater impacts on poverty could be made by improved performance in the social sectors and the environment
generally, concentrating on the states with the greatest backlogs. Better health and nutrition and better education for all, and
clean air and water are the best anti-poverty programmes. To these must be added reproductive health serevices and family
planning, again most needed in the poorest states : they too are pro poor measures in themselves for high fertility households.
The majority of the poor remain in rural areas, and measures to redress poverty must concentrate on enhancing both agricultural
growth and non-farm employment. Yet India, for all its anti-poverty commitment, has not seen the increases in the key
investments--irrigation, rural roads, and agriculture research-- that would help to achieve this.

Anti-poverty strategies all over the world rightly give an important place to the empowerment of the poor, and their
involvement in the design and management of schemes intended for their benefit. India has made considerable strides in these
directions : in water, moving to farmer managed watershed development; in a range of activites devolving budgets and
management to panchayats and pushing decentralization. Much of this experience has been positve; but much has not.
Instead of empowering the poor, it has empowered local-vested interests. Like, markets, devolution and decentralization
cannot be guaranteed to help the poor. There is an indispensable role for the state. But frequently public action by state
institutions has not delivered either.
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Policies to redress poverty require the positive engagement of central and state governments as well as NGOs, local

communities, and group of beneficiaries. With greater account ability and transparency India’s own resources will be adequate
to overcome poverty. Accountability is needed most particularly in public services that affect the poor : health, education and
the police perhaps more than any other, as well as the general working of bureaucracy. If resources are not invested or
distributed where they are needed, and policies are not framed to benefit the poor or to ensure that the poor receive the benefits
meant for them, this projection of slow poverty decline could become a reality. It is ultimately down to politics. If more of India’s
politicians see electoral promise in genuinely addressing the needs of the poor, poverty can and will decline much faster.

36. Irrigation, rural roads and agriculture research will help to  achieve
1) watershed development by vested interest
2) empowering state government to plan the budget
3) reduction of food subsidy
4) agricultural growth
5) None of these

37. In rural areas anti poverty commitments should pay attention to
(A) reproductive health-services and family planning.
(B) good nutrition and education for all.
(C) farm based and non-farm based employment.
1) Only (C) 2) Only (A) and (B) 3) Only (A)
4) Only (A) and (C) 5) Only (B)

38. Which of the following porgrammes provides relief  to the poor?
(A) Targeted Public Distribution System
(B) Pro-poverty strategies
(C) Reproductive health-service and family-size management
1) Only (A) 2) Only (B) 3) Only (C)
4) Both (A) and (B) 5) None of these

39. What kind of policies will help curtail poverty?
(A) Water conservation and pollution control measures
(B)Economic development and agricultural growth programmes.
(C) Employment schemes and social security.
1) Only (C) 2) Only (A) and (B) 3) Only (A)
4) All (A), (B) and (C) 5) Only B)

40. According to the passage what is ‘down to politics’?
1) Social security measures 2) Considering strides in education
3) Framing anti-poor policies 4) Projection of slow poverty decline
5) None of these

41. Which has to play an important role in promoting decentralisation?
1) State through the implementation of competent and effective policies
2) Centre by reserving common pool resources
3) Politician’s promised made during elections
4) Management by imitating policies of other countries
5) None of these

42. Why do anti-poverty programmes have only a limited impact?
(A) They are unrelated to basic economic processes.
(B) Their focus is on general problem and broader issues.
(C) They are balanced in terms of expenditure and benefit.
1) Only (C) 2) Both (B) and (C) 3) Only (A)
4) Both (A) and (C) 5) None of these
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43. According to the passage what should be the fundamental role of the state?

1) Monitoring working of bureaucracy
2) Implementation of anti-poverty strategies
3) Reducing role of panchayats
4) Empowering local-vested interest
5) None of these

44. How will India’s own resources and systems be helpful to diminish poverty?
1) Positive engagement of central and state government
2) With higher accountability and transparency
3) General working of bureaucracy
4) Devolving budgets and managements to panchayats
5) None of these

Directions (Q. 45-47): Choose the word/phrase which is most nearly the same in meaning as the word printed in bold
as used in the passage.

45. Implications
1) impacts 2) advantages 3) production 4) expenses 5) arrangements

46. Current
1) fresh 2) recent 3) shock 4) hidden 5) voltage

47. Prone
1) affected 2) unassailable 3) incited 4) liable 5) vulnerable

Directions (Q. 48-50): Choose the word/phrase which is most opposite in meaning as the word printed in bold as used
in the passage.

48. excessively
1) closely 2) absurdly 3) meagerly 4) profusely 5) moderately

49. lasting
1) temporary 2) first 3) final 4) timely 5) concluding

50. heavily
1) animated 2) thickly 3) relaxing 4) lightly 5) delicately
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i z' ukoyh II

l kekU;  l psr r k

51. fo' o dSal j  fnol  çfr o"kZ fuEu esa l s fdl  fnu euk; k t kr k gS\
1) 1 Qj oj h 2) 2 Qj oj h 3) 3 Qj oj h 4) 4 Qj oj h 5) 5 Qj oj h

52. fuEu esa l s fdl s gky gh esa l kW¶Vos; j  dai uh ekbØksl kW¶V dk u; k l hvks cuk; s t kus ds fy ,  ukfer  fd; k x; k gS\
1) l aqnj  fi pkbZ 2) LVhQu , yksi 3) , yu eqykyh 4) l R;  ukMsyk 5) buesa l s dksbZ ugha

53. fuEu esa l s fdl s Hkkj r h;  vksyafi d l a?k (IOA) ds u; s v/; {k ds : i  esa fuokZfpr  fd; k x; k gS\
1) y fyr  HkuksV 2) vHk;  fl ag pkSVkyk 3) vfuy [ kUuk 4) j kt ho esgr k 5) , u j kepanzu

54. l koZt fud {ks=kksa dh cSadksa ds fy ,  or Zeku esa l exz fons' kh fuos' k ¼FDI, FII vkSj  NRI½ dh l hek D; k gS\
1) 20 çfr ' kr 2) 24 çfr ' kr 3) 49 çfr ' kr 4) 74 çfr ' kr 5) buesa l s dksbZ ugha

55. Hkkj r h;  fj t oZ cSad 2014 dh nwl j h Nek; h esa , d i j h{k.k ds vk/kkj  i j  i kap ' kgj ksa& dksfPp] eSl wj ] t ; i qj ] f' keyk vkSj  Hkqous' oj
esa fuEu esa l s fdl  ewY; oxZ ds , d vj c IykfLVd uksVksa dks ykus dh r S; kj h dj  j gh gS\
1) 10 #- 2) 20 #- 3) 50 #- 4) 100 #- 5) mi j ksDr  l Hkh

56. gky gh esa l al n esa i s' k 2014-15 ds fy ,  var fj e ct V esa] 2013-14 esa j kt dks"kh;  ?kkVk ds t hMhi h ds fdr us çfr ' kr  i j  j gus dk
vuqeku yxk; k x; k gS\
1) 4.6 çfr ' kr 2) 4.9 çfr ' kr 3) 5.6 çfr ' kr 4) 5.9 çfr ' kr 5) 6.6 çfr ' kr

57. fuEu esa l s dkSu gky gh esa usi ky ds u; s ç/kkuea=kh cusa gSa\
1) ds i h ' kekZ vksyh 2) j ke panz i kSfM; ky 3) >kyk ukFk [ kuky
4) l q' khy dksbj kyk 5) buesa l s dksbZ ugha

58. Hkkj r h;  fj t oZ cSad us Hkkj r  esa OgkbV yscy , Vh, e LFkkfi r  dj us ds fy ,  dqN xSj &cSad l aLFkkvksa dks vuqefr  nh gSA fuEu esa l s dkSu
muesa l s , d gS\
1) VkVk dE; wfuds' ku i sesaV l kWY; w' kal 2) odj axh
3) eqFkwV Qkbusal 4) fçTe i sesaV l foZl sl
5) mi j ksDr  l Hkh

59. fuEu esa l s dkSu Hkkj r  dk foÙk ea=kh dHkh ugha j gk gS\
1) eueksgu fl ag 2) t l oar  fl ag 3) ; ' koar  fl Ugk 4) ç.kc eq[ kt hZ 5) buesa l s dksbZ ugha

60. CEPA dk foLr kfj r  : i  D; k gS\
1) Comprehensive Economic Partnership Agreement 2) Comprehensive Energy Partnership Agreement
3) Comprehensive Ecosystems Protection Agreement 4) Comprehensive Engineering Partnership Agreement
5) buesa l s dksbZ ugha

61. vkfFkZd ekeyksa dh dSfcusV desVh us fuEu esa l s fdl  dai uh dks 10,141 dj ksM+ #- ds çR; {k fons' kh fuos' k ds ek/; e l s Hkkj r h;  bdkbZ
esa vi uh fgLl snkj h dks ekSt wnk 64.38% çfr ' kr  l s c<+kdj  100% çfr ' kr  dj us ds çLr ko dks eat wj h nh\
1) eSfDl l 2) fl LVsek 3) oksMkQksu 4) VsyhukWj 5) buesa l s dksbZ ugha

62. dsanz l j dkj  us gky  gh esa ês?kj kt * i fj ; kst uk ' kq:  dh t ks fd , d ________ i fj ; kst uk gSA
1) DykmM daI; wfVx 2) eka , oa f' k' kq ekxZu 3) ekSl e dh Hkfo"; ok.kh
4) d f̀r e o"kkZ 5) buesa l s dksbZ ugha
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Test-II

General Awareness

51. The World Cancer Day is observed on which of the following dates annually?
1) 1 Feb 2) 2 Feb 3) 3 Feb 4) 4 Feb 5) 5 Feb

52. Who among the following has been named to be the new CEO of the software giant Microsoft recently?
1) Sundar Pichai 2) Stephen Elop 3) Alan Mulally 4) Satya Nadella 5) None of these

53. Who among the following has been elected as the new president of the Indian Olympic Association (IOA) clearing the
decks for India’s return to the Olympic fold after a 14-month suspension?
1) Lalit Bhanot 2) Abhay Singh Chautala 3) Anil Khanna
4) Rajeev Mehta 5) N Ramachandran

54. Currently, the aggregate foreign investment (FDI, FII and NRI) limit for public sector banks (PSBs) is:
1) 20 per cent 2) 24 per cent 3) 49 per cent 4) 74 per cent 5) None of these

55. The Reserve Bank of India (RBI) is gearing up to introduce about one billion plastic notes of which of the following
denominations in five cities — Kochi, Mysore, Jaipur, Shimla and Bhubaneswar on a trial basis in the second half of
2014?
1) Rs 10 2) Rs 20 3) Rs 50 4) Rs 100 5) All the above

56. In the interim budget for 2014-15, presented in the Parliament recently, the fiscal deficit has been pegged at what per cent
of the GDP in 2013-14-?
1) 4.6 per cent 2) 4.9 per cent 3) 5.6 per cent 4) 5.9 per cent 5) 6.6 per cent

57. Who among the following has become the new Prime Minister of Nepal recently?
1) KP Sharma Oli 2) Ram Chandra Poudyal 3) Jhala Nath Khanal
4) Sushil Koirala 5) None of these

58. The Reserve Bank of India (RBI) has permitted some non-bank entities to set up white label ATMs in India. Which of the
following are among them?
1) Tata Communications Payment Solutions 2) Vakrangee
3) Muthoot Finance 4) Prizm Payment Services
5) All the above

59. Who among the following has never been the Finance Minister of India?
1) Manmohan Singh 2) Jaswant Singh 3) Yashwant Sinha 4) Pranab Mukherjee 5) None of these

60. What is expanded form of CEPA?
1) Comprehensive Economic Partnership Agreement 2) Comprehensive Energy Partnership Agreement
3) Comprehensive Ecosystems Protection Agreement 4) Comprehensive Engineering Partnership Agreement
5) None of these

61. The Cabinet Committee on Economic Affairs approved the proposal of which of the following telecom majors to increase
its stake in the Indian entity to 100% for Rs 10,141 crore from 64.38% at present?
1) Maxis 2) Sistema 3) Vodafone 4) Telenor 5) None of these

62. The Union govt launched ‘Meghraj’ project, recently, which is a ______ project.
1) Cloud computing 2) Mother and child tracking 3) Weather forecasting
4) Artificial rain 5) None of these
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63. fuEu esa l s dkSu&l k ns' k ' kksj  csLM VsLV QSfl fyVh (SBTF) dks j [ kus okyk i gyk , f' k; kbZ ns' k vkSj  fo' o esa r hl j k ns' k cu x; k

gS\  ; g l qfo/kk eq[ ;  : i  l s ukSl suk foekuksa vkSj  i k; yVksa ds mM+ku i j h{k.k ds fy ,  gSA
1) phu 2) t ki ku 3) nf{k.k dksfj ; k 4) Hkkj r 5) i kfdLr ku

64. ; kst uk vk; ksx ds gky ds vuqekuksa ds vuql kj ] 2011-12 esa xj hch j s[ kk l s uhps j gus okys xj hc yksxksa dh l cl s vf/kd l a[ ; k fuEu
esa l s fdl  j kT;  esa Fkh\
1) i f' pe caxky 2) egkj k"Vª 3) e/;  çns' k 4) fcgkj 5) mÙkj  çns' k

65. bu fnuksa cSafdax l sok, a gj  t xg vkSj  gj  l e;  ekSt wn gSaA fuEu esa l s dkSu&l s mRi kn@l sok, a gS@gSa t ks mi j ksDr  dks l aHko cukr h gS\
1) vkVksesVsM Vsyj  e' khu 2) baVj usV csafdax 3) eksckby cSafdax
4) mi j ksDr  l Hkh 5) dsoy (1) vkSj  (2)

66. fuEu esa l s dkSu fu{ksi  chek , oa çR; ;  xkj aVh fuxe (DICGC) } kj k çnku t ek chek l qfo/kk ds fy ,  ; ksX;  ugha gS\
1) {ks=kh;  xzkeh.k cSadsa (RRBs) 2) fut h cSadsa 3) fons' kh cSadsa
4) çkFkfed l gdkj h l fefr ; ka 5) buesa l s dksbZ ugha

67. fuos' k i j  eaf=keaMyh;  l fefr  dh v/; {kr k dkSu dj r k gS\
1) i z/kkuea=kh 2) foÙkea=kh 3) ; kst uk vk; ksx ds mi k/; {k
4) eaf=keaMyh;  l fpo 5) buesa l s dksbZ ugha

68. cSafdax dh Hkk"kk esa î zfr gLr kar j .k* dk D; k vFkZ gS\
1) , d deh' ku ; k ' kqYd dk Hkqxr ku t c , d , t saV ; k dksbZ O; fDr  , d fuos' k dks cspr k gSA
2) l ai fÙk dk bl ds okLr fod ekfyd dks gLr kr aj .k] t c _ .k ; k ekWxsZt  dk Hkqxr ku dj  fn; k t kr k gSA
3) l ai fÙk t ks _ .kdr kZ } kj k _ .k nsus okys dks ' ki Fki woZd nh t kr h gSA
4) u,  _ .k l s or Zeku _ .k dks pqdkukA
5) buesa l s dksbZ ugha

69. {ks=kh;  xzkeh.k cSadksa dks fdl  nj  i j  i qufoZÙkh; u fd; k t kr k gS\
1) cSad nj  l s 2% de i j 2)  cSad nj  l s 1% de i j 3) j si ks nj  l s 2% de i j
4)  j si ks nj  l s 1% de i j 5) fj i ks nj  i j

70. l j dkj  dh fuEu dk; Zokfg; ksa i j  fopkj  dhft , &
(A) dj  dh nj  esa dVkSr h
(B) l j dkj h O; ;  dks c<+kuk
(C) vkfFkZd l gk; r k l ekIr  dj uk
vkfFkZd eanh ds l anHkZ esa mi ; qZDr  esa l s fdl  dk; Zokgh dks ĵ kt dks"kh;  i zksRl kgu* dk , d fgLl k ekuk t k l dr k gS\
1) dsoy  A vkSj  B 2) dsoy  B 3) dsoy  A vkSj  C 4) dsoy  B vkSj  C 5) l Hkh A, B vkSj  C

71. i zkFkfed : i  l s i wat h ckt kj  i zfr Hkwfr ; ksa dks t kj h dj us okyksa esa ' kkfey gSa&
1) dsUnz l j dkj 2) LFkkuh;  l j dkj
3) dsUnz o LFkkuh;  l j dkj  o fuxe 4) fuxe
5) LFkkuh l j dkj  o fuxe

72. yksxksa dk fuEu esa l s dkSu&l k oxZ foÙkh;  : i  l s vi oft Zr  ugha gS\
1) l hekar  fdl ku 2) osr uHkksxh O; fDr 3) Hkwfeghu et nwj
4) Lofu; ksft r  o vl axfBr  {ks=k ds m| e 5) ' kgj h >qXxh >ksi M+h fuokl h

73. fuEu esa l s dkSu , d i j ØkE;  i =k ugha gS\
1) i zksfe' kj h uksV 2) fcy  vkWQ , Dl psat 3) psd 4) cSad MªkW¶V 5) ' ks; j  l kVhZfQdsV
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63. Which of the following countries has become the first Asian country and only 3rd in the world to have Shore Based Test

Facility (SBTF)? The facility is primarily meant for flight testing of naval aircrafts and pilots.
1) China 2) Japan 3) South Korea 4) India 5) Pakistan

64. As per the recent estimates of the Planning Commission, which of the following states had the highest number of poor
people (5.98 crore) living below the poverty line in 2011-12?
1) West Bengal 2) Maharashtra 3) Madhya Pradesh 4) Bihar 5) Uttar Pradesh

65. These days, banking services are available anywhere and anytime. Which of the following is/are the product(s)/
service(s) that make the above possible?
1) Automated Teller Machine 2) Internet Banking 3) Mobile Banking
4) All the above 5) Only 1) and 2)

66. Which of the following in NOT eligible for deposit insurance facility provided by Deposit Insurance and Credit Guarantee
Corporation (DICGC)?
1) Regional Rural Banks (RRBs) 2) Private Banks 3) Foreign Banks
4) Primary Cooperative Societies 5) None of these

67. The Cabinet Committee on Investment (CCI) is headed by who amongst the following?
1) The Prime Minister 2) The Finance Minister                    3) Deputy Chairmen of Planning Commission
4) The Cabinet Secretary 5) None of these

68. In banking parlance, what is the meaning of the term “Reconveyance”?
1) A commission or fee paid when an agent or an individual sells an investment.
2) Transfer of property to its real owner, once the loan or the mortgage is paid off.
3) Property or assets which are pledged to the lender by the borrower.
4) Clearing the current loan with the proceeds of a new one.
5) None of these

69. The Regional Rural Banks (RBIs) are refinanced at:
1) 2% below the Bank Rate 2) 1% below the Bank Rate 3) 2% below the Repo Rate
4) 1% below the Repo Rate 5) Repo Rate

70. Consider the following actions by the Government:
(A) Cutting the tax rates
(B) Increasing the government spending
(C) Abolishing the subsidies
In the context of economic recession, which of the above actions can be considered a part of the ‘fiscal stimulus’?
1) Only A & B 2) Only B 3) Only A & C 4) Only B & C 5) All A, B & C

71. The primary issuer of capital market securities include:
1) The central government
2) The local government
3) The central and local governments and corporations
4) Corporations
5) Local government and corporations

72. Which of the following sections of people is not financially excluded?
1) Marginal farmers 2) Salaried persons 3) Landless labourers
4) Self-employed and unorganised sector enterprises 5) Urban slum dwellers

73. Which of the following is not a negotiable instrument?
1) Promissory note 2) Bill of exchange 3) Cheque 4) Bank draft 5) Share certificate
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74. cgqr  ckj  ge foÙkh;  l ekpkj  i =kksa esa _̂ .k l ewgu* ds ckj s esa i <+r s gSaA _ .k l ewgu okLr o esa D; k gS\

1) _ .k l ewgu esa] , d _ .k nkr k l s , d _ .k gsr q , dkf/kd _ .kdr kZ vkosnu dj r s gSaA
2) _ .k l ewgu esa] , dkf/kd _ .knkr k , d _ .k nsus gsr q , d l kFk vkr s gSaA
3) _ .k l ewgu esa] , dkf/kd _ .knkr k dbZ _ .k nsus gsr q , d l kFk vkr s gSaA
4) mi ; qZDr  2) vkSj  3)
5) mi ; qZDr  l Hkh

75. Hkkj r  esa uksV t kj h dj us gsr q or Zeku esa fuEu esa l s dkSu&l h fof/k i z; ksx dh t kr h gS\
1) fQDLM fQM~; w' kfj  fl LVe 2) eSfDl ee fQM~; w' kfj 3) i zksi ks' kZuy fj t oZ fl LVe
4) i j l saVst  fj t oZ fl LVe 5) fefuee fj t oZ fl LVe

76. ________ ds dkj .k vkt  cSadksa esa foi .ku , d vko' ; dr k gSA
1) mnkj hdj .k 2) j k"Vªh; dj .k 3) QS' ku
4) ' kgj hdj .k 5) cSadksa esa foi .ku t : j h ugha gS D; ksafd Hkkj r  esa cSafdax 200 l ky  l s vf/kd i qj kuh gS

77. foi .ku ________ esa enn dj r h gSA
1) mRi knu ds o/kZu 2) u; s xzkgdksa dks çkIr  dj us 3) vt ufc; ksa ds l kFk ckr phr  dj us esa
4) buesa l s l Hkh 5) buesa l s dksbZ ugha

78. l sokvksa ds foi .ku dh ________ esa l gk; r k yh t kr h gSA
1) fofuekZ.k 2) chek dkj ksckj 3) gksVy 4) dsoy  1) vkSj  2) 5) dsoy  2) vkSj  3)

79. foi .ku ________ dh , d dyk gSA
1) vf/kd [ kj hnnkj h 2) vf/kd Hkqxr ku 3) vf/kd fcØh 4) vf/kd ckr  dj us 5) dsoy 1) vkSj  2)

80. ekdsZV ' ks; j  dk er yc gS
1) ‘' ks; j ‘ckt kj 2) ‘' ks; j ‘dh‘dher 3) IPOs
4) foi .ku ds fy ,  vol j 5) l ed{k O; fDr ; ksa ds chp dkj ksckj  dh fgLl snkj h

81. , d Mk; j sDV l sfyax , t saV (DSA) og gksr k gS&
1) t ks baVj usV l s ek/; e l s cspr k gS 2) t ks xzkgd dks l h/ks cspr k gS
3) t ks cSad ds dkmaVj  i j  dk; Z dj r k gS 4) t ks cSd vkWfQl  esa j gdj  dk; Z dj r k gS
5) buesa l s dksbZ ugha

82. vkar fj d foi .ku dk er yc gksr k gS&
1) Lo; a dks foi .ku 2) i fj okj  l nL; ksa dks foi .ku 3) LVkWQ ds l nL; ksa ds fy ,  foi .ku
4) Hkkj r  ds vanj  foi .ku 5) Hkkj r  ds ckgj  foi .ku

83. , d vPNs vkSj  çHkko' kkyh Mk; j sDV l sfyax , t saV (DSA) dks ________ pkfg, A
1) çfr Li ) hZ dai uh dh udy dj uh 2) çfr Li ) hZ dai uh dh vkykspuk 3) çfr Li ) hZ dai uh Tokbu dj uh
4) fuf"Ø;  gksuk 5) çfr Li ) hZ dai uh l s vf/kd çHkko' kkyh gksuk

84. , d l Pph foi .ku ekufl dr k ds fy ,  ________ dh t : j r  gksr h gSA
1) fu; af=kr  ekufl dr k 2) dekaM ekufl dr k 3) fuf"Ø;  ekufl dr k 4) l fØ;  ekufl dr k 5) vfØ;  ekufl dr k

85. foi .ku dh vk/kqfud ' kSyh gS@gSa&
1) VsyhekdsZfVax 2) osc ekdsZfVax 3) usV i j  foKki u 4) bZ&esy 5) buesa l s l Hkh

86. _____ VsDLV gksr k gS ft l s vki  i st  ds ckWVe esa fi zaV dj uk pkgr s gSaA
1) gSMj 2) , aMuksV 3) QqVuksV 4) QqVj 5) buesa l s dksbZ ugha
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74. Many a times we read in financial newspapers about a term “loan syndication”. What exactly is loan syndication?

1) In loan syndication, more than one debtors apply for a loan to one creditor
2) In loan syndication, more than one creditors come together to provide single loan
3) In loan syndication, more than one creditors come together to provide multiple loans
4) Both 2) & 3)
5) All of the above

75. Which one of the following methods is currently used in India to issue note?
1) Fixed Fiduciary System 2) Maximum Fiduciary System 3) Proportional Reserve System
4) Percentage Reserve System 5) Minimum Reserve System

76. Marketing in banks is a necessity today, due to________.
1) Liberalisation  2) Nationalisation 3) Fashion
4) Urbanisation
5) Marketing in banks is not necessary, as banking in India is more than 200 years old

77. Marketing helps in_________.
1) boosting production 2) getting new clients 3) interacting with strangers
4) All of these 5) None of these

78. Marketing of services is resorted in_________
1) Manufacturing Concerns 2) Insurance business 3) hotels
4) Only 1) and 2) 5) Only 2) and 3)

79. Marketing is the art of________
1) buying more 2) paying more 3) selling more
4) talking more 5) Only 1) & 2)

80. Market Share means__________
1) Share market 2) Share prices 3) IPOs
4) Scope for marketing 5) Share of business among peers

81. A DSA (Direct Selling Agent) is one_________
1) Who sells through the Internet 2) Who sells direct to the client 3) Who works on the bank counters
4) Who works in back office set up 5) None of these

82. Internal marketing means___________.
1) Marketing to self 2) Marketing to family members 3) Marketing to the staff members
4) Marketing inside India 5) Marketing outside India

83. A good and effective DSA should________
1) Copy the competitor company 2) Criticize the competitor company 3) Join the competitor company
4) Be passive 5) Be more effective than the competitor company

84. A true marketing mindset requires________
1) Control mindset 2) Command mindset 3) Passive mindset
4) Active mindset 5) Inert mindset

85. Modern styles of marketing are_________
1) telemarketing 2) web marketing 3) advertisement on the net
4) e-mails 5) All of these

86. A(n)_____is text that you want printed at the bottom of the page.
1) header 2) endnote 3 ) footnote 4) footer 5) None of these



BSC Academy

14 SBI-PO-002

BSC
87. vksi j sfVax fl LVe vR; fèkd dkWeu Vkbi  dk ________ l kW¶Vos; j  gSA

1) dE; wfuds' ku 2) , sfIyds' ku 3) fl LVe 4) oMZ i zksl sfl ax 5) buesa l s dksbZ ugha

88- bZ&esy Hkst uk ________ ds l eku gSA
1) i =k fy [ kus 2) fp=k cukus 3) Qksu i j  ckr  dj us 4) i Sdst  Hkst uk 5) buesa l s dksbZ ugha

89- fdl h Hkh foaMks esa eSDl ekbt  cVu] fefuekbt  cVu vkSj  Dykst  cVu ________ i j  fn[ kr s gSaA
1) VkbVy ckj 2) esuw ckj 3) LVsVl  ckj 4) : y j  ckj 5) Vwy ckj

90. uacj  i SM Mkbj sD' kuy , sj ks ds : i  esa dke dj s] bl ds fy ,  ________ dqat h nckuh i M+r h gSA
1) f' k¶V 2) , sj ks ykWd 3) ue ykWd 4) dSIl  ykWd 5) buesa l s dksbZ ugha

91- vksj sdy esa Vªkat sD' kuksa dk fMQkYV uacj  D; k gksr k gS] ft l  i j  fofufnZ"V u fd,  gksus dh fLFkfr  esa MAXTRANS l sV gksr k gS\
1) 512 2) 10 3) 40 4) 1 5) 255

92. fuEu esa l s fdl  l ewg esa dsoy bui qV fMokbl  gksr h gS\
1) ekml ] dh cksMZ] ekWfuVj 2) ekml ] dh cksMZ] fi zaVj 3) ekml ] dh cksMZ] IykWVj
4) ekml ] dh cksMZ] LdSuj 5) buesa l s dksbZ ugha

93- ; g fl Xuy nsus ds fy ,  fd fdl  esej h fpi  dks , Dl sl  fd; k t k j gk gS] , Mªsl  MhdksMj  RAM fpi  esa fdl  fi u l s dusDV gksr k
gS\
1) , Mªsl  bui qV 2) vkmVi qV vuscy 3) fpi  vuscy 4) MkVk bui qV 5) MkVk vkmVi qV

94- foaMkst  esa] ckbZ fMQkYV QkbYl  t c fMyhV gks t kr h gS] mUgsa ________ esa Hkst k t kr k gSA
1) MLV fcu 2) fj l kbdy fcu 3) osLV fcu 4) fj l kbdy osLV fcu 5) buesa l s dksbZ ugha

95- t c vki  fdl h i st  l s dksbZ VsDLV fdl h vU;  i st  i j  ys t kuk pkgr s gksa] r ks ml dh Js"B i ) fr  ________ gSA
1) MªSx , .M MªkWi 2) dV , .M i sLV 3) fMyhV , .M fj Vkbi 4) QkbUM , .M fj Iysl 5) buesa l s dksbZ ugha

96- vi uh fj i ksVZ dk i gyk i Sj kxzkQ baMsUV dj us ds fy ,  vki dks ________ dk mi ; ksx dj uk pkfg, A
1) Li sl  ckj 2) fj VuZ dh 3) VSc dh 4) f' k¶V dh 5) buesa l s dksbZ ugha

97. l kW¶Vos; j  i Sdst  dh l cl s vPNh i fj Hkk"kk dkSu&l h gS\
1) vki ds daI; wVj  ds fy ,  , M&vkWu t Sl s vfr fj Dr  esej h
2) dksbZ [ kkl  QaD' ku t Sl s oMZ i zksl Sfl ax dj us ds fy ,  i z; qDr  daI; wVj  i zksxzkeksa dk l sV
3) , d i zksVsD' ku t ks vki  vi us daI; wVj  ds fy ,  [ kj hn l dsa
4) def' kZ; y  l kW¶Vos; j  ds l kFk vkus okyk fMCck] eSuqvy vkSj  ykbl sal
5) buesa l s dksbZ ugha

98. , d ________ yxHkx , d fcfy ; u esej h yksds' ku fj i zst sUV dj r k gSA
1) fdyksckbV 2) esxkckbV 3) fxxkckbV 4) Vsj kckbV 5) buesa l s dksbZ ugha

99. i zksxzkeksa dk l ewg t ks vki ds daI; wVj  fl LVe ds pyus dks daVªksy dj r k gS vkSj  l wpuk i zksl sl  dj r k gS ml s ________ dgr s gSaA
1) vkWi j sfVax fl LVe 2) daI; wVj 3) vkWfQl 4) dai kby j 5) baVj i zsVj

100. ; wt j  } kj k cgqr  l h Qkbysa l so vkSj  fMyhV fd,  t kus ds ckn] n{kr ki woZd mi ; ksx esa yk,  u t k l dsa , sl s vR; fèkd NksVs] LVksMZ MkVk
ds LdSVMZ , sfj ; k j g t kr s gSa] ft ul s ________ gks l dr k gSA
1) fMt vkWMZj 2) VekZby 3) fMt , sj s 4) ÝSxesaVs' ku 5) buesa l s dksbZ ugha
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87. The operating system is the most common type of ________software.

1) Communication 2) Application 3) System 4) Word-processing 5) None of these

88. Sending an e-mail is same as
1) writing a letter 2) drawing a picture 3) talking on phone
4) sending a package 5) None of these

89. In any window, the maximize button, the minimize button and the close buttons appear on
1) The title bar 2) Menu bar 3) Status bar 4) Ruler bar 5) Tool bar

90. To make the number pad act as directional arrows, you press the ————— key.
1) shift 2) arrow lock 3) num lock 4) caps lock 5) None of these

91. In Oracle, what is the default number of transactions that MAXTRANS is set to if not specified?
1)  512 2)  10 3)  40 4)  1 5)  255

92. Which of the following groups consist of only input devices?
1) Mouse, Keyboard, Monitor 2) Mouse, Keyboard, Printer 3) Mouse, Keyboard, Plotter
4) Mouse, Keyboard, Scanner 5) None of these

93. To which pin on the RAM chip does the address decoder connect in order to signal which memory chip is being
accessed ?
1) The address input 2) The output enable 3) The chip enable
4) The data input 5) The data output

94. In windows, by default the files when deleted are sent to ________
1) Dust Bin 2) Recycle Bin 3) Waste Bin
4) Recycle Waste Bin 5) None of these

95. When you want to move some text from one page to a different page, the best method is________
1) drag and drop 2) cut and paste 3) delete and retype 4) find and replace 5) None of these

96. To indent the first paragraph of your report, you should use this key ________.
1) space bar 2) return key 3) tab key 4) shift key 5) None of these

97. Which is the best definition of a software package?
1) An add-on for your computer such as additional memory
2) A set of computer programs used for a certain function such as word processing
3) A protection you can buy for a computer
4) The box, manual and licence agreement that accompany commercial software
5) None of these

98. A ________ represents approximately one billion memory location.
1) kilobyte 2) megabyte 3) gigabyte 4) terabyte 5) None of these

99. A collection of programs that controls how your computer system runs and processes information is called
1) operating system 2) computer 3) office 4) compiler 5) interpreter

100. After a user has saved and deleted many files, many scattered areas of stored data remain that are too small to be used
efficiently, causing ________
1) disorder 2) turmoil 3) disarray 4) fragmentation 5) None of these
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i z' ukoyh III

l eadksa dh O; k[ ; k , oa fo' ys"k.k

funsZ' k (i z- 101-105): uhps fn,  x,  i zR; sd i z' u esa , d i z' u vkSj  ml ds uhps I vkSj  II dFku fn,  x,  gSaA vki dks ; g r ;  dj uk
gS fd dFkuksa esa fn; k x; k MkVk i z' u dk mÙkj  nsus ds fy ,  i ; kZIr  gS ; k ughaA l EHkkfor  mÙkj  ds chp pquko dj us ds fy ,  vki dks MkVk
vkSj  xf.kr  ds v i us Kku dk i z; ksx dj uk gksxkA mÙkj  nhft , %

1) ; fn dsoy dFku I esa fn; k x; k MkVk i z' u dk mÙkj  nsus ds fy ,  i ; kZIr  gS] t cfd dsoy dFku II esa fn; k x; k MkVk i z' u dk
mÙkj  nsus ds fy ,  i ; kZIr  ugha gSA

2) ; fn dsoy dFku II esa fn; k x; k MkVk i z' u dk mÙkj  nsus ds fy ,  i ; kZIr  gS] t cfd dsoy dFku I esa fn; k x; k MkVk i z' u dk
mÙkj  nsus ds fy ,  i ; kZIr  ugha gSA

3) ; fn ; k r ks dsoy dFku I ; k dsoy dFku II esa fn; k x; k MkVk i z' u dk mÙkj  nsus ds fy ,  i ; kZIr  gSA
4) ; fn dFku I vkSj  dFku II nksuksa esa fn; k x; k MkVk feydj  i z' u dk mÙkj  nsus ds fy ,  i ; kZIr  ugha gSA
5) ; fn dFku I vkSj  II nksuksa esa fn; k x; k MkVk feydj  i z' u dk mÙkj  nsus ds fy ,  vko' ; d gSA

101. , d oxZ dk {ks=kQy D; k gS\
I. oxZ ds fod.kZ dh eki  80 l seh- gSA
II. oxZ dk i fj eki  , d òÙk dh i fj f/k ds cj kcj  gSA

102. vk' kk dk or Zeku osr u D; k gS\
I. ml dk osr u i zfr  o"kZ 15 i zfr ' kr  c<+r k gSA
II. og 7 o"kZ i woZ l axBu l s t qM+hA

103. l kykuk i zfr ' kr  C; kt  nj  D; k gS\
I. nks o"kZ ds var  esa 1500 #- dh j kf' k i j  vft Zr  pØòf)  C; kt  dh j kf' k 660 #- gSA
II. l k/kkj .k C; kt  i j  j kf' k 5 o"kZ esa nksxquh gks t kr h gSA

104. l axBu ds deZpkfj ; ksa dh dqy l a[ ; k D; k gS\
I. 75% deZpkj h i q: "k gSaA
II. l axBu esa i q: "k o efgyk deZpkfj ; ksa ds chp dk vuqi kr  1 : 3 gSA

105. nks vadksa dh l a[ ; k D; k gS\
I. l a[ ; k ds nks vadksa dk ; ksx 8 gSA
II. l a[ ; k ds nksuksa vadksa dks vki l  esa cnyus l s i zkIr  l a[ ; k okLr fod l a[ ; k l s 18 de gSA

funsZ' k (i z- 106-110): fuEu i z' uksa ds mÙkj  nsus ds fy ,  r kfydk dk l ko/kkuhi woZd v/; ; u dhft , A

Ng vyx&vyx fo"k; ksa esa Ng fo| kfFkZ; ksa } kj k i zkIr  fd,  x,  vadksa dk i zfr ' kr

fo"k;  
fo| kFkhZ 

vaxzst h
(100 esa l s)

xf.kr
(150 esa l s)

l ekt  foKku
(120 esa l s)

foKku
(150 esa l s)

fgUnh
(80 esa l s)

ej kBh
(50 esa l s)

A 52 84 65 76 65 60
B 63 70 85 56 75 64
C 80 66 70 64 60 50
D 71 78 60 80 70 60
E 77 80 65 54 55 74
F 67 75 55 86 60 76

106. l Hkh fo| kfFkZ; ksa dks feykdj  fgUnh esa i zkIr  fd; k x; k l fUudV vkSl r  vad D; k gS\
1) 45 2) 51 3) 62 4) 59 5) 66
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Test III

Data Interpretation and Data Analysis

Directions (Q. 101-105): Each of the questions below consists of a question and two statements numbered I and II given
below it. You have to decide whether the data provided in the statements are sufficient to answer the question. Read both the
statements and Give answer

1) if the data in Statement I alone is sufficient to answer the question, while the data in Statement II alone is not sufficient
to answer the question.

2) if the data in Statement II alone is sufficient to answer the question, while the data in Statement I alone is not sufficient
to answer the question.

3) if the data either in Statement I alone or in Statement II alone is sufficient to answer the question.
4) if the data in both the Statements I and II even together are not sufficient to answer the question.
5) if the data in both the Statements I and II together are necessary to answer the question.

101. What is the area of a square?
I. The measure of the diagonal of the square is 80 cm.
II. The perimeter of the square is equal to the circumference of a circle.

102. What is Asha’s present salary?
I. Her salary increases every year by 15 per cent.
II. She joined the organisation seven years ago.

103. What is the rate of interest p.c.p.a.?
I. The compound interest accrued on an amount of Rs 1,500 at the end of 2 years is Rs 660.
II. An amount doubles itself in 5 years at simple interest.

104. What is the total staff strength of the organisation?
I. 75% of the staff consists of male employees.
II. The ratio of female to male employees in the organisation is 1 : 3.

105. What is a two-digit number?
I. The sum of the two digits of the number is 8.
II. The number obtained by interchanging the two digits of the number is lesser than the original number by 18.

Directions (Q. 106-110): Study the table carefully to answer the following questions.

Percentage of marks obtained by six students in six different subjects

Subject 
Student 

Eng
(Out of 100)

Maths
(Out of 150)

S. Studies
(Out of 120)

Science
(Out of 150)

Hindi
(Out of 80)

Marathi
(Out of 50)

A 52 84 65 76 65 60
B 63 70 85 56 75 64
C 80 66 70 64 60 50
D 71 78 60 80 70 60
E 77 80 65 54 55 74
F 67 75 55 86 60 76

106. What is the approximate average marks obtained by all students together in Hindi?
1) 45 2) 51 3) 62 4) 59 5) 66
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107. fo| kfFkZ; ksa A, B vkSj  C dks feykdj  xf.kr  esa i zkIr  vad vkSj  fo| kfFkZ; ksa D, E vkSj  F dks feykdj  ej kBh esa i zkIr  vad ds chp dk

vuqi kr  D; k gS\
1) 7 : 22 2) 23 : 7 3) 23 : 4 4) 4 : 21 5) buesa l s dksbZ ugha

108. l Hkh fo"k; ksa dks feykdj  nwl j k l okZf/kd vad fdl  fo| kFkhZ us i zkIr  fd; k gS\
1) D 2) F 3) A 4) B 5) buesa l s dksbZ ugha

109. i j h{kk i kl  dj us ds Øe esa] ; fn , d fo| kFkhZ dks l ekt  foKku esa U; wur e 75 vad vkSj  foKku esa U; wur e 85 vad dh vko' ; dr k
gS] r ks fdr us fo| kfFkZ; ksa us i j h{kk i kl  dh gS\
1) fdl h us ugha 2) , d 3) nks 4) rhu 5) buesa l s dksbZ ugha

110. l Hkh fo"k; ksa dks feykdj  B } kj k i zkIr  fd; k x; k i zfr ' kr  vad D; k gS\
1) 68.62 2) 66.83 3) 69.24 4) 64.84 5) buesa l s dksbZ ugha

funsZ' k (i z- 111-115): fuEu vkj s[ k dk l ko/kkuhi woZd v/; ; u dhft ,  vkSj  uhps fn,  x,  i z' uksa ds mÙkj  nhft , A

i kap fo| kfFkZ; ksa } kj k Hkk"kkvksa ¼vaxzst h] fgUnh o ej kBh½ esa i zkIr  fd,  x,  vad
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111. fuEu esa l s dkSu&l k dFku l R;  gS\
1) ‘E’ us vf/kdr e dqy vad i zkIr  fd; k 2) ‘B’ vkSj  ‘D’ dk fgUnh esa vad l eku Fkk
3) A dk dqy i zfr ' kr  50 gS 4) l Hkh fo| kfFkZ; ksa us fgUnh esa vf/kdr e vad i zkIr  fd; k
5) buesa l s dksbZ ugha

112. B } kj k i zkIr  fd,  x,  dqy vad o C } kj k i zkIr  fd,  x,  dqy vad ds chp D; k var j  gS\
1) 5 vad 2) 2 vad 3) 18 vad 4) dksbZ var j  ugha 5) buesa l s dksbZ ugha

113. C dk dqy l fédV i zfr ' kr  D; k gS\
1) 56% 2) 63% 3) 70% 4) 75% 5) 51%

114. D ds vaxsst h esa vad vkSj   B ds vaxzst h esa vad ds chp dk l axr  vuqi kr  D; k gS\
1) 8 : 13 2) 5 : 14 3) 7 : 12 4) 6 : 13 5) buesa l s dksbZ ugha

115. D } kj k i zkIr  fd; k x; k l fédV vkSl r  vad D; k gS\
1) 38 2) 43 3) 50 4) 54 5) 47
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107. What is the ratio of the marks obtained by students A, B and C together in Maths to the marks obtained by students D,

E and F together in Marathi?
1) 7 : 22 2) 23 : 7 3) 23 : 4 4) 4 : 21 5) None of these

108. Which student has scored the second highest in all the subjects together?
1) D 2) F 3) A 4) B 5) None of these

109. In order to pass the exam, if the students need minimum 75 marks in Social Studies and minimum 85 marks in Science, how
many students have passed the exam?
1) None 2) One 3) Two 4) Three 5) None of these

110. What is the percentage of marks obtained by B in all the subjects together? (rounded off to two digits after decimal)
1) 68.62 2) 66.83 3) 69.24 4) 64.84 5) None of these

Directions (Q. 111-115): Study the following graph carefully and answer the questions given below:
Marks Scored by Five Students in Languages (English, Hindi and Marathi)
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111. Which of the following statements is true?
1) ‘E’ scored the highest total marks
2) ‘B’ and ‘D’ had the same score in Hindi
3) A’s overall percentage is 50
4) All the students scored maximum marks in Hindi
5) None of these

112. What is the difference between the total marks obtained by B and the total marks obtained by C?
1) 5 marks 2) 2 marks 3) 18 marks 4) No Difference 5) None of these

113. What is C’s overall approximate percentage?
1) 56% 2) 63% 3) 70% 4) 75% 5) 51%

114. What is the respective ratio of D’s marks in English to B’s marks in English?
1) 8 : 13 2) 5 : 14 3) 7 : 12 4) 6 : 13 5) None of these

115. What are the approximate average marks obtained by D?
1) 38 2) 43 3) 50 4) 54 5) 47
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funsZ' k (i z- 116-120): fuEu vkj s[ k dk l ko/kkuhi woZd v/; ; u dhft ,  vkSj  uhps fn,  x,  i z' uksa ds mÙkj  nhft , A

fofHkUu ' kgj ksa l s v fHk; ksX; r k i j h{kk esa ' kkfey gks j gs fo| kfFkZ; ksa dh l a[ ; k ¼gt kj ksa esa½
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116. l Hkh ' kgj ksa dks feykdj  vfHk; ksX; r k i j h{kk esa ' kkfey gks j gs fo| kfFkZ; ksa dh vkSl r  l a[ ; k D; k gS\
1) 33500 2) 3350 3) 17500 4) 33.5 5) buesa l s dksbZ ugha

117. ' kgj  D l s vfHk; ksX; r k i j h{kk ds fy ,  ' kkfey gks j gs fo| kfFkZ; ksa dh l a[ ; k ' kgj  C l s vfHk; ksX; r k i j h{kk ds fy ,  ' kkfey gks j gs fo| kfFkZ; ksa
dh l a[ ; k dh yxHkx fdr uh i zfr ' kr  gS\
1) 243 2) 413 3) 134 4) 341 5) 143

118. ' kgj  C vkSj  D dks feykdj  vfHk; ksX; r k i j h{kk ds fy ,  ' kkfey gks j gs fo| kfFkZ; ksa dh l a[ ; k vkSj  ' kgj ksa A, D vkSj  E dks feykdj
vfHk; ksX; r k i j h{kk ds fy ,  ' kkfey gks j gs fo| kfFkZ; ksa dh l a[ ; k ds chp dk l axr  vuqi kr  D; k gS\
1) 11 : 13 2) 20 : 43 3) 20 : 47 4) 37 : 20 5) buesa l s dksbZ ugha

119. ' kgj  B vkSj  ' kgj  A l s vfHk; ksX; r k i j h{kk ds fy ,  ' kkfey gks j gs fo| kfFkZ; ksa dh l a[ ; k ds chp dk l axr  vuqi kr  D; k gS\
1) 3 : 4 2) 13 : 16 3) 11 : 16 4) 2 : 3 5) buesa l s dksbZ ugha

120. ' kgj  E l s vfHk; ksX; r k i j h{kk ds fy ,  ' kkfey gks j gs fo| kfFkZ; ksa dh l a[ ; k l Hkh ' kgj ksa dks feykdj  vfHk; ksX; r k i j h{kk ds fy ,  ' kkfey
gks j gs fo| kfFkZ; ksa dh dqy l a[ ; k dh yxHkx fdr uh i zfr ' kr  gS\
1) 15 2) 17 3) 19 4) 21 5) 23

funsZ' k (i z- 121-125): fn,  x,  òÙkkj s[ k esa Ng vyx&vyx dkWyst ksa (A, B, C, D, E vkSj  F) l s o"kks± 2012 vkSj  2013 ds nkSj ku i kl
gq,  fo| kfFkZ; ksa dk for j .k fn; k x; k gSA j s[ kk vkj s[ k esa o"kZ esa 2012 esa i kl  gq,  yM+dksa dk i zfr ' kr  vkSj  o"kZ 2013 esa i kl  gqbZ yM+fd; ksa
dk i zfr ' kr  n' kkZ; k x; k gSA bu vkj s[ kksa i j  vk/kkfj r  fuEu i z' uksa ds mÙkj  nhft , A

i kl  gq,  dqy fo| kFkhZ                     i kl  gq,  dqy fo| kFkhZ
(2012) = 30000                            (2013) = 40000
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Directions (Q. 116-120): Study the following Grpah carefully and answer the questions given below:

Number of Students Appearing for Aptitude Test from
Various Towns (Number in thousands)
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116. What is the average number of students appearing for Aptitude test from all the Towns together?
1) 33500 2) 3350 3) 17500 4) 33.5 5) None of these

117. The number of students appearing for the Aptitude test from Town D is approximately what percent of the number of
students appearing for the Aptitude test from Town C?
1) 243 2) 413 3) 134 4) 341 5) 143

118. What is the respective ratio of the number of students appearing for the Aptitude test from Town C and D together to the
number of students appearing for the Aptitude test from Town A, D and E together?
1) 11 : 13 2) 20 : 43 3) 20 : 47 4) 37 : 20 5) None of these

119. What is the respective ratio of the number of students appearing for the aptitude test from Town B to Town A?
1) 3 : 4 2) 13 : 16 3) 11 : 16 4) 2 : 3 5) None of these

120. The number of students appearing for the aptitude test from Town E is approximately what percent of total number of
students appearing for the Aptitude test from all the Towns together?
1) 15 2) 17 3) 19 4) 21 5) 23

Directions (Q. 121-125): In the given pie -charts the distribution of passed students from six different colleges (A, B,
C, D, E and F) of a city during the year 2012 and 2013 is given. In the line graph the percentage of boys passed in year 2012
and the percentage of girls passed in 2013 is shown. Answer the following questions based on these graphs.

Total students passed                     Total students passed
(2012) = 30000                                     (2013) = 40000
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121. dkWyst  C l s 2012 esa i kl  gqbZ Nk=kkvksa dh l a[ ; k D; k gS\
1) 2000 2) 2300 3) 2400 4) 2500 5) 2700

122. dkWyst  F l s 2013 esa i kl  gq,  Nk=kksa dh l a[ ; k D; k gS\
1) 5760 2) 5750 3) 5740 4) 5730 5) 5720

123. l Hkh dkWyst ksa l s o"kZ 2012 esa i kl  gqbZ Nk=kkvksa dh dqy l a[ ; k D; k gS\
1) 14645 2) 15645 3) 16645 4) 17645 5) 18645

124. o"kZ 2013 esa i kl  gq,  Nk=kksa dh l a[ ; k vkSj  bl h o"kZ i kl  gqbZ Nk=kkvksa dh l a[ ; k ds chp D; k var j  gS\
1) 1690 2) 1680 3) 1670 4) 1660 5) 1650

125. dkWyst  E l s o"kZ 2012 esa i kl  gq,  Nk=kksa dh l a[ ; k dkWyst  C l s o"kZ 2013 esa i kl  gq,  Nk=kksa dh l a[ ; k dh fdr uh i zfr ' kr  gS\
1) 70% 2) 80% 3) 90% 4) 100% 5) 110%

funsZ' k (i z- 126-130): i z' uksa ds mÙkj  nsus ds fy ,  fuEu l wpuk dks i <+sa%

, d [ ksy vk; kst u esa nkSM+ dh r hu Jsf.k; ka ¼100 eh] 200 eh vkSj  400 eh½ gSaA bl  vk; kst u esa dqy 200 , FkyhVksa us Hkkx fy ; kA dsoy
100 eh nkSM+ esa Hkkx ysus okys , FkyhVksa dh l a[ ; k , FkyhVksa dh dqy l a[ ; k dh 30% gS vkSj  muesa l s , d&fr gkbZ efgyk, a gSaA dsoy 200
ehVj  nkSM+ esa Hkkx ysus okys , FkyhVksa dh l a[ ; k , FkyhVksa dh dqy l a[ ; k dk 15% gS vkSj  muesa l s 40% efgyk, a gSaA dsoy 400 ehVj  nkSM+
esa Hkkx ysus okys , FkyhVksa dh l a[ ; k , FkyhVksa dh dqy l a[ ; k dh , d&pkSFkkbZ gS vkSj  muesa l s vk/kh efgyk, a efgyk, a gSA oSl s , FkyhVksa dh
l a[ ; k ft Ugksaus 100 ehVj  vkSj  200 ehVj  nkSM+ esa Hkkx fy ; k ysfdu 400 ehVj  nkSM+ esa Hkkx ugha fy ; k] , FkyhVksa dh dqy l a[ ; k dk nl oka
Hkkx gS vkSj  muesa l s , d&pkSFkkbZ efgyk, a gSaA oSl s , FkyhVksa dh l a[ ; k ft Ugksaus 100 ehVj  vkSj  400 ehVj  nkSM+ esa Hkkx fy ; k ysfdu 200 ehVj
nkSM+ esa Hkkx ugha fy ; k] , FkyhVksa dh dqy l a[ ; k dk 7.5% gS vkSj  muesa l s 8/15 efgyk, a gSaA oSl s , FkyhVksa dh l a[ ; k ft Ugksaus l Hkh r hu Jsf.k; ksa
esa Hkkx fy ; k] , FkyhVksa dh dqy l a[ ; k dk chl oka Hkkx gS vkSj  muesa l s i kapoka Hkkx efgyk, a gSaA mu efgyk , FkyhVksa dh l a[ ; k ft Ugksaus 200
ehVj  vkSj  400 ehVj  nkSM+ esa Hkkx fy ; k ysfdu 100 ehVj  dh nkSM+ esa Hkkx ugha fy ; k] 8/15 gSaA

126. oSl h efgyk , FkyhVksa dh l a[ ; k D; k gS ft Ugksaus Bhd nks Jsf.k; ksa esa Hkkx fy ; k\
1) 20 2) 21 3) 23 4) 24 5) 25

127. oSl s i q: "k , FkyhVksa dh dqy l a[ ; k vkSj  efgyk , FkyhVksa dh dqy l a[ ; k ds chp D; k var j  gS ft Ugksaus Bhd , d Js.kh esa Hkkx fy ; k\
1) 61 2) 63 3) 65 4) 67 5) 69

128. oSl s , FkyhVksa dh dqy l a[ ; k ft Ugksaus 200 eh vkSj  400 eh dh nkSM+ esa Hkkx fy ; k ysfdu 100 eh- nkSM+ esa Hkkx ugha fy ; k vkSj  muesa
l s i q: "k , FkyhVksa dh l a[ ; k ds chp dk vuqi kr  D; k gS\
1) 15 : 11 2) 15 : 8 3) 15 : 7 4) 15 : 13 5) 8 : 7

129. oSl s i q: "k , FkyhVksa dh l a[ ; k D; k gS ft Ugksaus nkSM+ dh vf/kdr e nks Jsf.k; ksa esa Hkkx fy ; k\
1) 104 2) 106 3) 108 4) 110 5) 112

130. oSl s i q: "k , FkyhVksa dh l a[ ; k ft Ugksaus nkSM+ dh l Hkh r hu Jsf.k; ksa esa Hkkx fy ; k] efgyk , FkyhVksa dh dqy l a[ ; k dh fdr uh i zfr ' kr  gS\
1) 10% 2) 20% 3) 30% 4) 40% 5) bueas l s dksbZ ugha
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121. What is the number of female students passing in 2012 from College C?
1) 2000 2) 2300 3) 2400 4) 2500 5) 2700

122. What is the number of male students passing in year-2013 from College F?
1) 5760 2) 5750 3) 5740 4) 5730 5) 5720

123. What is the total number of females passing in 2012 from all colleges?
1) 14645 2) 15645 3) 16645 4) 17645 5) 18645

124. What is the difference between the number of male students passing in year 2013 and that of female students passing in
the same year?
1) 1690 2) 1680 3) 1670 4) 1660 5) 1650

125. Number of boys passing from College E in 2012 is what percentage of the number of boys passing from College C in year
2013?
1) 70% 2) 80% 3) 90% 4) 100% 5) 110%
Directions (Q. 126-130): Read the following information to answer the questions.
In a sports event there are three categories of race (100 m, 200 m, 400 m). Total 200 athletes participated in that event. The

number of athletes who participated only in 100m race is 30% of total number of athletes, and among them 1/3rd are females.
Number of athletes who participated in 200m race only is 15% of total number of athletes and among them 40% are females.
Number of athletes who participated  only in 400m race is  1/4  of total number of athletes and among them half are females.
Number of athletes who participated in 100m and 200m race but not in  400m race is 1/10 of total number of athletes and among
them 1/4 are females. Number of athletes who participated in 100m and 400 m race but not in 200 m is 7.5% of total number of
athletes and among them 8/15 are females. Number of athletes who participated in all three categories is 1/20 of total number of
athletes and among them 1/5 are females. Number of female atheletes who participate 200m and 400 m race but not in 100m race
is 8/15.
126. What is the number of female athletes who participated in exactly two categories of race?

1) 20 2) 21 3) 23 4) 24 5) 25
127. What is the difference between the total number of male athletes and the number of female athletes who participated in

exactly one category?
1) 61 2) 63 3) 65 4) 67 5) 69

128. What is the ratio of the total number of athletes who participated in 200m and 400m race but not in 100m race  to the male
athletes among them?
1) 15 : 11 2) 15 : 8 3) 15 : 7 4) 15 : 13 5) 8 : 7

129. What is the number of male athletes who participated in at most two categories of race?
1) 104 2) 106 3) 108 4) 110 5) 112

130. The number of male athletes who participated in all three categories of race is what percentage of total number of female
athletes?
1) 10% 2) 20% 3) 30% 4) 40% 5) None of these
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funsZ' k (i z- 131-135): fuEu i z' uksa esa i z' ufpÐ (?) ds LFkku i j  D; k l fUudV eku vkuk pkfg, \

131. (72)
2
 × 2.85

1) 12825 2) 13625 3) 14775 4) 15625 5) 16875

132. (884 dk 475%) ÷ 35 = ?
1) 116 2) 120 3) 124 4) 127 5) 132

133. (0.000428 ÷ 0.00040) × 55.05 = ?
1) 53 2) 56 3) 59 4) 63 5) 73

134. ?989.459.351
)2(

1956.175
)4(

1
32 

1) 45 2) 50 3) 55 4) 60 5) 65

135. ?106503 
1) 22 2) 26 3) 18 4) 28 5) 24

136. , d fl Dds dks i kap ckj  mNkyk t kr k gSA gsM ds Bhd r hu ckj  vkus dh l aHkkO; r k Kkr  dhft , A

1) 32
15

2) 16
10

3) 16
5

4) 32
5

5) 16
15

137. ; fn A dk osr u B ds osr u l s 40% vf/kd gS] r ks B dk osr u A ds osr u l s fdr us i zfr ' kr  de gS\

1) 40% 2) 36% 3) %
2
132 4) %

3
239 5) %

7
428

138. , d Vªsu 120 ehVj  yacs vkSj  70 ehVj  yacs IysVQkeZ dks Øe' k% 17 l sds.M vkSj  12 l sds.M esa i kj  dj r h gSA Vªsu dh xfr  D; k gS\
1) 10 ehVj @l sds.M 2) 16 ehVj @l sds.M 3) 20 ehVj @l sds.M 4) 24 ehVj @l sds.M  5) 30 ehVj @l sds.M

139. , d fuf' pr  /kuj kf' k , d fuf' pr  nj  i j  4 o"kks± ds fy ,  l k/kkj .k C; kt  i j  yxkbZ t kr h gSA ; fn bl s 3% vf/kd nj  i j  yxk; k x; k
gksr k r ks bl l s 360 #- vf/kd i zkIr  gq,  gksr sA /kuj kf' k fdr uh gS\
1) 2400 #- 2) 3000 #- 3) 3600 #- 4) 4200 #- 5) buesa l s dksbZ ugha

140. , d i kVhZ esa i zR; sd O; fDr  i zR; sd nwl j s O; fDr  l s gkFk feykr k gSA ; fn i kVhZ esa dqy 120 ckj  gkFk feyk,  t kr s gSa ogka mi fLFkr  yksxksa
dh l a[ ; k D; k gS\
1) 15 2) 16 3) 17 4) 18 5) 20

funzs' k (i z- 141-145): fuEu r kfydk oSl s fo| kfFkZ; ksa dh l a[ ; k dks n' kkZr h gS ft Ugksaus fofHkUu fo| ky; ksa l s , d [ ksy vk; kst u esa Hkkx
fy ; kA

fo| ky ;  
[ ksy   A B C D E F

Åaph dwn 20 12 20 16 8 14
yach dwn 14 15 12 11 13 7
xksyk Qsad 16 18 14 22 12 8
r Sj kdh 12 10 15 17 8 10
t wM+ks 15 8 11 9 10 13
100 ehVj  nkSM+ 8 12 6 15 9 16
t hEukLV 10 6 14 12 9 9
i ksy  okWYV 20 16 6 9 12 15

141. l Hkh fo| ky; ksa dks feykdj  Åaph dwn esa Hkkx ysus okys fo| kfFkZ; ksa dh vkSl r  l a[ ; k D; k gS\
1) 12 2) 13 3) 14 4) 15 5) 16
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Directions (Qs. 131-135): What approximate value should come in the place of  question mark (?) in the following

questions?

131. (72)
2
 × 2.85

1) 12825 2) 13625 3) 14775 4) 15625 5) 16875

132. (475% of 884) ÷ 35 = ?
1) 116 2) 120 3) 124 4) 127 5) 132

133. (0.000428 ÷ 0.00040) × 55.05 = ?
1) 53 2) 56 3) 59 4) 63 5) 73

134. ?989.459.351
)2(

1956.175
)4(

1
32 

1) 45 2) 50 3) 55 4) 60 5) 65

135. ?106503 
1) 22 2) 26 3) 18 4) 28 5) 24

136. An unbiased coin is tossed 5 times. Find the chance that head will appear exactly 3 times.

1) 32
15

2) 16
10

3) 16
5

4) 32
5

5) 16
15

137. If A’s salary is 40% more than B’s; then how much per cent is B’s salary less than A’s?

1) 40% 2) 36% 3) %
2
132 4) %

3
239 5) %

7
428

138. A train crosses a 120-metre and a 70-metre long platforms in 17 seconds and 12 seconds respectively. What is the speed
of the train?
1) 10 m/sec 2) 16 m/sec 3) 20 m/sec 4) 24 m/sec  5) 30 m/sec

139. A certain amount of money is put on simple interest at a certain rate for 4 years. Had it been put at 3% higher rate, it would
have fetched Rs 360 more. What is the amount?
1) Rs 2400 2) Rs 3000 3) Rs 3600 4) Rs 4200 5) None of these

140. In a party every person shakes hands with every other person. If there were a total of 120 handshakes in the party then
what is the number of persons present in the party?
1) 15 2) 16 3) 17 4) 18 5) 20

Directions (Q. 141-145): Following table shows the number of students from different schools who participated in a
sports event.

Schools 
Events  A B C D E F

High Jump 20 12 20 16 8 14
Long Jump 14 15 12 11 13 7
Short put 16 18 14 22 12 8
Swimming 12 10 15 17 8 10
Judo 15 8 11 9 10 13
100m race 8 12 6 15 9 16
Gymnastics 10 6 14 12 9 9
Pole Vault 20 16 6 9 12 15

141. What is the average number of students who participated in high jump from all schools together?
1) 12 2) 13 3) 14 4) 15 5) 16
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142. fo| ky;  B l s xksyk Qsad esa Hkkx ysus okys fo| kfFkZ; ksa dh l a[ ; k fo| ky;  A l s 100 ehVj  nkSM+ esa Hkkx ysus okys fo| kfFkZ; ksa dh l a[ ; k

dh fdr uh i zfr ' kr  gS\
1) 44.44% 2) 87.5% 3) 125% 4) 150% 5) 225%

143. fo| ky;  C l s r Sj kdh esa Hkkx ysus okys fo| kfFkZ; ksa dh l a[ ; k bl h fo| ky;  l s 100 ehVj  nkSM+ esa Hkkx ysus okys fo| kfFkZ; ksa dh l a[ ; k
l s fdr uh i zfr ' kr  vf/kd gS\
1) 40% 2) 50% 3) 75% 4) 120% 5) 150%

144. fo| ky;  E l s l Hkh [ ksyksa esa Hkkx ysus okys fo| kfFkZ; ksa dh dqy l a[ ; k vkSj  l Hkh fo| ky; ksa dks feykdj  yach dwn esa Hkkx ysus okys fo| kfFkZ; ksa
dh l a[ ; k ds chp dk vuqi kr  D; k gS\
1) 5 : 4 2) 6 : 7 3) 7 : 6 4) 8 : 7 5) 9 : 8

145. fo| ky;  A l s l Hkh [ ksyksa dks feykdj  Hkkx ysus okys fo| kfFkZ; ksa dh vkSl r  l a[ ; k fo| ky;  F l s l Hkh [ ksyksa dks feykdj  Hkkx ysus
okys fo| kfFkZ; ksa dh vkSl r  l a[ ; k dh fdr uh i zfr ' kr  gS\
1) 80% 2) 120% 3) 125% 4) 150% 5) 225%

funsZ' k (i z- 146-150): fuEu i z' uksa ds mÙkj  nsus ds fy ,  vkj s[ k dk /; kui woZd v/; ; u dhft , A

fi Nys o"kZ dh r qyuk esa nks dai fu; ksa ds ykHk esa i zfr ' kr  c<+ksr j h
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146. ; fn o"kZ 2013 esa dai uh B dk ykHk 7,83,000 #- Fkk] r ks o"kZ 2010 esa bl dk ykHk D; k Fkk\
1) 2,25,000 #- 2) 3,75,000 #- 3) 4,16,000 #- 4) 4,05,000 #- 5) buesa l s dksbZ ugha

147. foxr  o"kks± ds nkSj ku dai uh B ds ykHk esa l fUudV vkSl r  i zfr ' kr  òf)  D; k gS\
1) 58 2) 40 3) 53 4) 62 5) 46

148. ; fn o"kZ 2009 esa dai uh A dk ykHk 1.5 yk[ k #- Fkk] r ks o"kZ 2011 esa bl dk ykHk D; k Fkk\
1) 2.65 yk[ k #- 2) 4.25 yk[ k #- 3) 3.15 yk[ k #- 4) 4.90 yk[ k #- 5) buesa l s dksbZ ugha

149. fuEu esa l s dkSu&l k dFku fuf' pr  : i  l s l R;  gS\
1) o"kZ 2013 esa dai uh B us dai uh A l s vf/kd ykHk dek; k gSA
2) o"kZ 2010 esa dai fu; ksa A vkSj  B } kj k vft Zr  ykHk cj kcj  gSaA
3) o"kZ 2009 esa fi Nys o"kZ dh r qyuk esa dai uh B ds ykHk esa i zfr ' kr  òf)  10 i zfr ' kr  gSA
4) dai uh A us o"kZ 2009 esa l cl s de ykHk dek; k gSA
5) o"kZ 2009 vkSj  2010 esa dai uh A dk ykHk l eku j gk gSA

150. fi Nys o"kZ dh r qyuk esa o"kZ 2011 esa dai uh A ds ykHk esa i zfr ' kr  c<+ksr j h esa i zfr ' kr  òf)  D; k gS\
1) 15 2) 20 3) 10 4) 25 5) buesa l s dksbZ ugha
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142. The number of students from School B who participated in short put is what percentage of the number of students from

School A who participated in 100-metre race?
1) 44.44% 2) 87.5% 3) 125% 4) 150% 5) 225%

143. The number of students from School C who participated in swimming is what percentage more than the number of
students who participated in 100-metre race from the same school?
1) 40% 2) 50% 3) 75% 4) 120% 5) 150%

144. What is the ratio of the total number of students from School E who participated in all the games to the number of
students who participated in long jump from all schools together?
1) 5 : 4 2) 6 : 7 3) 7 : 6 4) 8 : 7 5) 9 : 8

145. The average number of students who participated from School A taking all the games together is what percentage of the
average number of students who participated from School F taking all the games together?
1) 80% 2) 120% 3) 125% 4) 150% 5) 225%

Directions (Q. 146-150): Study the graph carefully to answer the following questions.

Per cent rise in profit of two companies over the previous years
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146. If the profit of Company B in the year 2013 was Rs 7,83,000, then what was its profit in the year 2010?
1) Rs 2,25,000 2) Rs 3,75,000 3) Rs 4,16,000 4) Rs 4,05,000 5) None of these

147. What is the approximate average per cent rise in profit of Company B over the years?
1) 58 2) 40 3) 53 4) 62 5) 46

148. If the profit of Company A in the year 2009 was Rs. 1.5 lakhs, what was its profit in the year 2011?
1) Rs 2.65 lakhs 2) Rs 4.25 lakhs 3) Rs 3.15 lakhs 4) Rs 4.90 lakhs 5) None of these

149. Which of the following statements is definitely true?
1) Company B has made more profit than Company A in the year 2013.
2) Profits made by Company A and Company B in the year 2010 are the same.
3) Increase in per cent rise in profit of Company B in the year 2009 from the previous year is 10 per cent.
4) Company A has made the lowest profit in the year 2009.
5) Profit of Company A remained the same in the year 2009 and 2010.

150. What is the per cent increase in per cent rise in profit of Company A in the year 2011 from the previous year?
1) 15 2) 20 3) 10 4) 25 5) None of these
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i z' ukoyh IV

r dZ' kfDr  v fHk; ksX; r k

funsZ' k (i z- 151-155): fn,  x,  i z' uksa ds mÙkj  nsus ds fy ,  fuEufyf[ kr  l wpuk dk v /; ; u dhft , A

, d l Ir kg esa Ng O; k[ ; ku , d gh l Ir kg ds l kseokj  l s ' kq:  gksdj  vkSj  j fookj  dks l ekIr  gksr s gq,  gksus r ;  gSA daI; wVj  foKku
eaxyokj  ; k ' kfuokj  dks ugha gSA euksfoKku l axBukRed O; ogkj  ds r qj ar  ckn gSA l kaf[ ; dh ' kqØokj  dks ugha gS vkSj  l kaf[ ; dh o ' kks/k i ) fr
ds chp , d fnu dk var j  gSA vFkZ' kkL=k ds , d fnu i gys dksbZ O; k[ ; ku ugha gS ¼D; ksafd og vodk' k dk fnu gS½ vkSj  l kseokj  vodk' k
dk fnu ugha gSA

151. fuEu esa l s dkSu&l k O; k[ ; ku vafr e r ;  O; k[ ; ku gS\
1) l kaf[ ; dh 2) ' kks/k i ) fr 3) euksfoKku
4) fu/kkZfj r  ugha dj  l dr s 5) buesa l s dksbZ ugha

152. ; fn cq/kokj  vodk' k dk fnu gS r ks dwV 2-4 gksxk] vkSj  ; fn cg̀Li fr okj  vodk' k dk fnu gS r ks 3-3 dwV gksxkA vodk' k ds fnu
i j  fopkj  dj r s gq,  fuEu esa l s dkSu&l k dwV l gh gS\
1) 2 - 4 2) 3 - 3 3) 4 - 2
4) fu/kkZfj r  ugha dj  l dr s 5) buesa l s dksbZ ugha

153. ' kqØokj  dks dkSu&l k O; k[ ; ku gksuk r ;  gS\
1) vFkZ' kkL=k 2) euksfoKku 3) daI; wVj  foKku
4) fu/kkZfj r  ugha dj  l dr s 5) buesa l s dksbZ ugha

154. vFkZ' kkL=k vkSj  euksfoKku ds chp fdr us O; k[ ; ku gksus r ;  Fks\
1) , d 2) nks 3) rhu
4) fu/kkZfj r  ugha dj  l dr s 5) buesa l s dksbZ ugha

155. dEi ; wVj  foKku fuEu esa l s fdl  fnu dks gksuk r ;  gS\
1) l kseokj 2) cq/kokj 3) cg̀Li fr okj
4) fu/kkZfj r  ugha dj  l dr s 5) buesa l s dksbZ ugha

funsZ' k (i z- 156-160): bu i z' uksa esa dFkuksa esa fofHkUu r Roksa ds chp dk l aca/k n' kkZ; k x; k gSA dFkuksa ds ckn fu"d"kZ I vkSj  II fn,
x,  gSaA mÙkj  nhft , %

1) ; fn dsoy fu"d"kZ I l R;  gSA
2) ; fn dsoy fu"d"kZ II l R;  gSA
3) ; fn ; k r ks fu"d"kZ I vkSj  ; k r ks fu"d"kZ II l R;  gSA
4) ; fn uk r ks fu"d"kZ I vkSj  uk r ks fu"d"kZ II l R;  gSA
5) ; fn nksuksa fu"d"kZ I vkSj  II l R;  gSaA

156. dFku : L < U, U > G, G  S
fu"d"kZ: I. L > S II. G < L

157. dFku : A  U, U = L, L < J
fu"d"kZ : I. J > A II. J > U

158. dFku : C   S, S < D, D > M
fu"d"kZ : I. D > C II. S > M

159. dFku : Y < G, G   H, H = R
fu"d"kZ : I. R = G II. R < G

160. dFku : P  Q, D > P, S = D
fu"d"kZ : I. S= P II. S > P
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Test-IV

Reasoning Ability

Directions (Q. 151-155): Study the following infromation to answer the given questions:

6 lectures are scheduled in a week starting from Monday and ending on Sunday of the same week. Computer Science is
not on Tuesday or Saturday. Psychology is immediately after Organisational Behaviour. Statistics is not on Friday and there
is one day gap between Statistics and Research Methods. One day prior to the schedule of Economics there is no lecture (as
that day is the ‘off’ day) and Monday is not the ‘off’ day.

151. Which of the following is the last lecture scheduled?
1) Statistics 2) Research Methods 3) Psychology
4) Cannot be determined 5) None of these

152. IF Wednesday is the ‘off’ day, the code would be 2-4, if Thursday was the ‘off ‘ day, the code would be 3-3. Taking into
account the ‘off’ day which of the following code is correct?
1) 2 - 4 2) 3 - 3 3) 4 - 2
4) Cannot be determined 5) None of these

153. Which lecture is scheduled on Friday
1) Economics 2) Psychology 3) Computer Science
4) Cannot be determined 5) None of these

154. How many lectures were scheduled between Economics and Pshychology?
1) One 2) Two 3) Three
4) Cannot be determined 5) None of these

155. Which day is Computer Science scheduled?
1) Monday 2) Wednesday 3) Thursday
4) Cannot be determined 5) None of these

Directions (Q. 156-160): In these questions, relationship between elements is shown in the Statements. The Statements
are followed by Conclusions I & II. Give answer:

1) if only Conclusion I is true.
2) if only Conclusion II is true.
3) if either Conclusion I or II is true.
4) if neither Conclusion I nor II is true.
5) if both Conclusions I and II are true.

156. Statements: L < U, U > G, G  S
Conclusions: I. L > S II. G < L

157. Statements: A  U, U = L, L < J
Conclusions: I. J > A II. J > U

158. Statements: C   S, S < D, D > M
Conclusions: I. D > C II. S > M

159. Statements: Y < G, G   H, H = R
Conclusions: I. R = G II. R < G

160. Statements: P  Q, D > P, S = D
Conclusions: I. S= P II. S > P
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funsZ' k (i z- 161-163): fn,  x,  i z' uksa ds mÙkj  nsus ds fy ,  fuEufyf[ kr  l wpuk dk v /; ; u dhft , A

, d ' kCn o l a[ ; k O; oLFkki u e' khu dks t c ' kCnksa o l a[ ; kvksa dh , d bui qV i afDr  nh t kr h gS r ks og bUgsa , d fo' ks"k fu; e dk
vuql j .k dj r s gq,  O; ofLFkr  dj r h gSA bui qV o i quO; ZoLFkk dk , d mnkgj .k fuEu gSA

bui qV: tree cut 92 51 food 17 garden 32
pj .k I: cut tree 92 51 food 17 garden 32
pj .k II: cut food tree 92 51 17 garden 32
pj .k III: cut food 92 tree 51 17 garden 32
pj .k IV: cut food 92 51 tree 17 garden 32
pj .k V: cut food 92 51 garden tree 17 32
pj .k VI: cut food 92 51 garden tree 32 17

pj .k VI bui qV dk vafr e pj .k gSA

Åi j  pj .kksa esa vuql j .k fd,  x,  fu; eksa ds vuql kj  uhps fn,  x,  i zR; sd i z' u dk mÙkj  Kkr  dhft , A

161. , d bui qV dk pj .k IV “earn more 82 63 12 31 quite new” gSA fuEu esa l s vkmVi qV dk pj .k II fuf' pr  : i  l s dkSu&l k gksxk\
1) earn more 12 63 82 31 quite new 2) earn more new 82 63 12 31 quite 3) earn more quite new 82 12 63 31
4) fu/kkZfj r  ugha dj  l dr s 5) buesa l s dksbZ ugha

162. bui qV: “bring home 42 73 15 goal 32 type”. fuEu esa l s dkSu&l k pj .k vafr e gksxk\
1) V 2) VI 3) IV 4) VII 5) buesa l s dksbZ ugha

163. bui qV: “bench 47 63 advance 13 29 again between”. vkmVi qV dk pj .k III fuEu esa l s dkSu&l k gS\
1) advance again 63 47 bench 13 29 between 2) advance again 63 47 bench between 13 29
3) advance again 63 47 bench between 29 13 4) fu/kkZfj r  ugha dj  l dr s
5) buesa l s dksbZ ugha

164. fuEu esa l s o.kkZ{kj ksa dk dkSu&l k l ewg fj Dr  LFkkuksa dks i zfr LFkkfi r  dj sxk fd cksYM v{kj ksa esa fn,  x,  o.kkZ{kj ksa dk l ewg vi us i woZor hZ
o mÙkj or hZ o.kkZ{kj ksa ds l kFk , d r kfdZd i SVuZ dk vuql j .k dj sxk\
a b _ y      a b c_x w      a b c d e v_
1) z, d, u 2) d, x, u 3) c, d, u 4) z, y, w 5) c, d, w

165. fuEu i kap esa l s pkj  fuf' pr  i zdkj  l s , d l eku gSa vkSj  bl fy ,  , d l ewg cukr s gSaA og , d dkSu gS t ks l ewg l s l acaf/kr  ugha gS\
1) ysal 2) ' kVj 3) fQYe 4) dSej k 5) t we

funsZ' k (i z- 166-170): fn,  x,  i z' uksa ds mÙkj  nsus ds fy ,  fuEufyf[ kr  l wpuk dk v /; ; u dhft , A

, d fuf' pr  dwV esa ‘always to be right’ dks ‘4 9 3 2’ ds : i  esa] ‘right is also just’ dks ‘9 7 6 5’ ds : i  esa] ‘come to terms’ dks ‘1
3 8’ ds : i  esa] ‘terms are just’ dks ‘0 1 6’ ds : i  esa vkSj  ‘always is’ dks ‘7 4’ ds : i  esa fy [ kk t kr k gSA

166. ‘come’ ds fy ,  dwV fuEu esa l s D; k gS\
1) 0 2) 8 3) 1 4) 3 5) ; k r ks 1 ; k 8

167. fuEu esa l s dkSu ‘8 6 3 1 5’ ds : i  esa dwVc)  fd; k t k l dr k gS\
1) to be are just terms 2) right to come are terms 3) always also to be just
4) be right also is terms 5) also come to just terms

168. ‘always be right terms’ dks fuEu esa l s dkSu fu: fi r  dj r k gS\
1) 8 4 1 3 2) 2 4 1 9 3) 4 3 8 9 4) 1 2 5 0 5) 9 0 4 2

169. ‘right’ ds fy ,  dwV fuEu esa l s dkSu gS\
1) 9 2) 7 3) 6 4) ; k r ks 9 ; k 5 5) 5
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Directions (Q. 161-163): Read the following information carefully and answer the questions given below:

A word and number arrangement machine when given an input line of words and numbers rearranges them following a
particular rule. Following is an illustration of input and steps of rearrangement.

Input: tree cut 92 51 food 17 garden 32
Step I: cut tree 92 51 food 17 garden 32
Step II: cut food tree 92 51 17 garden 32
Step III: cut food 92 tree 51 17 garden 32
Step IV: cut food 92 51 tree 17 garden 32
Step V: cut food 92 51 garden tree 17 32
Step VI: cut food 92 51 garden tree 32 17

And Step VI is the last step of the input.

As per the rules followed in the above steps, find out the answer to each of the questions given below:

161. Step IV of an input is: “earn more 82 63 12 31 quite new”. Which of the following will definitely be Step II of the output?
1) earn more 12 63 82 31 quite new 2) earn more new 82 63 12 31 quite 3) earn more quite new 82 12 63 31
4) Cannot be determined 5) None of these

162. Input: “bring home 42 73 15 goal 32 type”. Which of the following steps will be the last?
1) V 2) VI 3) IV 4) VII 5) None of these

163. Input: “bench 47 63 advance 13 29 again between”. Which of the following is the step III of the output?
1) advance again 63 47 bench 13 29 between 2) advance again 63 47 bench between 13 29
3) advance again 63 47 bench between 29 13 4) Cannot be determined
5) None of these

164. Which of the following groups of alphabets should replace the blank spaces so that the group of alphabets, given in
bold, follow a logical pattern from the preceding and the following group of alphabets?
a b _ y      a b c_x w      a b c d e v_
1) z, d, u 2) d, x, u 3) c, d, u 4) z, y, w 5) c, d, w

165. Four of the following five are alike in a certain way and so form a group. Which is the one that does not belong to that
group?
1) Lens 2) Shutter 3) Film 4) Camera 5) Zoom

Directions (Q. 166-170): Study the following information to answer the given questions:

In certain code ‘always to be right’ is written as ‘4 9 3 2,’ ‘right is also just’ is written as ‘9 7 6 5’, ‘come to terms’ is written
as ‘1 3 8’, ‘terms are just’ is written as ‘0 1 6’ and ‘always is’ is written as ‘7 4’.

166. Which of the following is the code for ‘come’?
1) 0 2) 8 3) 1 4) 3 5) Either 1 or 8

167. Which of the following can be coded as ‘8 6 3 1 5’?
1) to be are just terms 2) right to come are terms 3) always also to be just
4) be right also is terms 5) also come to just terms

168. Which of the following represents, ‘always be right terms’?
1) 8 4 1 3 2) 2 4 1 9 3) 4 3 8 9 4) 1 2 5 0 5) 9 0 4 2

169. Which of the following is the code for ‘right’?
1) 9 2) 7 3) 6 4) Either 9 or 5 5) 5
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170. bl  dwV esa ‘6’ fdl s fu: fi r  dj r k gS\

1) terms 2) also 3) are 4) is 5) just

funsZ' k (i z- 171-175): uhps fn,  x,  i zR; sd i z' u esa dqN dFku vkSj  ml ds ckn nks fu"d"kZ I vkSj  II fn,  x,  gSaA vki dks fn,  x,
r huksa dFkuksa dks l R;  l e>uk gS Hkys gh os l oZKkr  r F; ksa l s esy u [ kkr s gksa vkSj  fQj  ; g r ;  dj uk gS fd fn,  x,  fu"d"kks± esa l s dkSu&l k
fu"d"kZ r dZl axr  : i  l s bu dFkuksa dk vuql j .k dj r k gS] Hkys gh l oZKkr  r F;  dqN Hkh gksaA mÙkj  nhft , %

1) ; fn dsoy fu"d"kZ I vuql j .k dj r k gS

2) ; fn dsoy fu"d"kZ II vuql j .k dj r k gS

3) ; fn ; k r ks fu"d"kZ I ; k II vuql j .k dj r k gS

4) ; fn u r ks fu"d"kZ I u gh II vuql j .k dj r k gS

5) ; fn fu"d"kZ I vkSj  II nksuksa vuql j .k dj r s gSa

171. dFku: dqN ck?k phr s gSaA
l Hkh ' ksj  ck?k gSaA

fu"d"kZ: I. dqN phr s] t ks ck?k ugha gSa] os ' ksj  Hkh gSaA
II. l Hkh phr s] t ks ck?k ugha gSa] os ' ksj  Hkh ugha gSaA

172. dFku: dqN eksVj  LdwVj  gSaA
dksbZ LdwVj  okgu ugha gSA

fu"d"kZ: I. , d l aHkkouk gS fd , d eksVj  dHkh Hkh , d okgu ugha gksxkA
II. dqN okgu LdwVj  ugha Hkh gks l dr s gSaA

173. dFku: l Hkh fl r kj s xzg gSaA
dksbZ xzg panzek ugha gSA

fu"d"kZ: I. fl r kj ksa ds panzek gksus dh l aHkkouk gSA
II. de&l s&de panzek xzg ugha gSaA

174. dFku: l Hkh xqykc Qwy gSaA
dqN xqykc yky gSaA

fu"d"kZ: I. l Hkh Qwyksa ds yky gksus dh l aHkkouk gSA
II. cgqr  l s Qwy yky ugha gSaA

175. dFku: dqN l aLFkku cSad gSaA
l Hkh l aLFkku vdkneh gSaA
l Hkh vdkneh fo| ky;  gSaA

fu"d"kZ: I. dqN l aLFkku fo| ky;  ugha gSaA
II. l Hkh vdknfe; ksa ds cSad gksus dh l aHkkouk gSA

funsZ' k: (i z- 176-180): fn,  x,  i z' uksa ds mÙkj  nsus ds fy ,  fuEu l wpuk dk v /; ; u dhft , A

ckj g O; fDr  nks l ekar j  dr kj ksa esa cSBs gSa ft uesa l s i zR; sd dr kj  es Ng O; fDr  bl  i zdkj  cSBs gSa fd nks vkl Uu O; fDr ; ksa ds chp l eku
nwj h gSA dr kj &2 esa P, Q, R, S, T vkSj  V cSBs gSa vkSj  buesa l s l Hkh mÙkj  dh vksj  eqag fd,  gq,  gSaA dr kj &1 esa A, B, C, D, E vkSj  F cSBs
gSa vkSj  buesa l s l Hkh nf{k.k dh vksj  eqag fd,  gq,  gSaA vr %] cSBus dh nh xbZ O; oLFkk esa , d dr kj  esa cSBk i zR; sd l nL;  nwl j h dr kj  ds
vU;  l nL;  ds l keus cSBk gSA

D ds nk, a r hl j s LFkku i j  A cSBk gSA u r ks A u gh D vafr e Nksj ksa i j  cSBs gSaA T, D ds l keus cSBk gSA V, A ds l keus ugha gS vkSj
V fdl h Hkh vafr e Nksj  i j  ugha cSBk gSA V, T dk fudVr e i M+ksl h ugha gSA B vafr e Nksj ksa esa l s , d i j  cSBk gSA B vkSj  E ds chp dsoy
nks O; fDr  cSBs gSaA E, V ds l keus ugha gSA R vkSj  Q ds chp nks O; fDr  cSBr s gSaA T dk , d fudVr e i M+ksl h R ugha gSA C, V ds l keus ugha
gSA R dk , d fudVr e i M+ksl h P ugha gSA

176. dr kj ksa ds vafr e Nksj ksa i j  fuEu esa l s dkSu cSBr s gSa\
1) B, E 2) S, T 3) P, R 4) B, F 5) buesa l s dksbZ ugha

177. A ds l keus fuEu esa l s dkSu cSBr k gS\
1) R 2) T 3) P 4) Q 5) S
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170. What does ‘6’ represent in this code?

1) terms 2) also 3) are 4) is 5) just
Directions (Q. 171-175): In each question below are given some statements followed by two conclusions numbered

I and II. You have to take the three given statements to be true even if they seem to be at variance with commonly known facts
and then decide which of the given conclusions logically follows from the given statements disregarding commonly known
facts. Give answer

1) if only conclusion I follows.
2) if only conclusion II follows.
3) if either conclusion I or II follows.
4) if neither conclusion I nor II follows.
5) if both conclusions I and II follow.

171. Statements: Some tigers are panthers.
All lions are tigers.

Conclusion: I. Some panthers, which are not tigers, are also lions.
II. All panthers, which are not tigers, are also not lions.

172. Statements: Some motors are scooters.
No scooter is vehicle.

Conclusion: I. There is  possibility that a motor will never be a vehicle.
II. A few vehicles may not be scooters.

173. Statements: All stars are planets.
No planet is a moon.

Conclusion: I. There is a possibility of stars being a moon.
II. At least moons are not planets.

174. Statements: All roses are flowers.
Some roses are red.

Conclusion: I. All flowers being red is a possibility.
II. Many flowers are not red.

175. Statements: Some institutes are banks.
All institutes are academics.
All academics are school.

Conclusion: I. Some institutes are not schools.
II. All academies being bank is a possibility.

Directions: (Q. 176-180) Study the following information to answer the given questions.

Twelve people are sitting in two parallel rows containing six people each, in such a way that there is an equal distance
between adjacent persons. In row - 2 P, Q, R, S, T and V are seated and all of them are facing north. In row-1, A, B, C, D, E and
F are seated and all of them are facing south. Therefore, in the given seating arrangement each member seated in a row faces
another member of the other row.

A sits third to the right of D. Neither A nor D sits at extreme ends. T faces D. V does not face A and V does not sit at any
of the extreme ends. V is not on immediate neighbour of T. B sits at one of the extreme ends. Only two people sit between B and
E. E does not face V. Two persons sits between R and Q. R is not an immediate neighbour of T. C does not face V. P is not an
immediate neighbour of R.

176. Who amongst the following sit at extreme ends of the rows?
1) B, E 2) S, T 3) P, R 4) B, F 5) None of these

177. Who amongst the following faces A?
1) R 2) T 3) P 4) Q 5) S
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178. T vkSj  S ds chp fdr us O; fDr  cSBs gSa\

1) , d 2) nks 3) rhu 4) pkj 5) buesa l s dksbZ ugha

179. P, V l s ml h i zdkj  l s l acaf/kr  gS t Sl s fd C l acaf/kr  gS F l sA bl h i SVuZ dk vuql j .k dj r s gq,  E fuEu esa l s fdl l s l acaf/kr  gS\
1) B 2) D 3) C 4) A 5) buesa l s dksbZ ugha

180. F ds l anHkZ esa fuEu esa l s dkSu l R;  gS\
1) C ds nk, a nwl j s LFkku i j  F cSBk gSA 2) A dk , d fudVr e i M+ksl h F ugha gSA
3) B ds ck, a r hl j s LFkku i j  F cSBk gSA 4) F dr kj  ds , d vafr e Nksj  i j  cSBk gSA
5) F, V ds l keus cSBk gSA

funsZ' k  (i z- 181-185): uhps , d i z' u fn; k x; k gS ft l ds ckn r hu dFku I, II vkSj  III fn,  x,  gSaA vki dks fu.kZ;  dj uk gS fd
bu dFkuksa esa fn; k x; k MkVk i z' u dk mÙkj  nsus ds fy ,  i ; kZIr  gS ; k ughaA l gh fodYi  dks mÙkj  ds : i  esa fpfUºr  dhft , A

181. A fdl  i zdkj  l s T l s l acaf/kr  gS\
I.    A ds fi r k Q HkkbZ gSa S dsA S  i Ruh gS T dhA
II.   A i q=k gS Q dkA Q HkkbZ gS S dkA S i Ruh gS T dhA
III. T nks cPpksa ds fi r k gSaA
1) dsoy  I 2) dsoy  II 3) dsoy  I vkSj  II 4) dsoy  II vkSj  III 5) buesa l s dksbZ ugha

182. vi us i zkst sDV dks i wj k dj us esa fodkl  us fdr us eghus dk l e;  fy ; k\
I. egs' k dks Bhd l s ; kn gS fd fodkl  us i zkst sDV i wj k dj us esa nks ekg l s vf/kd ysfdu l kr  ekg l s de l e;  fy ; kA
II. fi adh dks Bhd l s ; kn gS fd fodkl  us bl  i zkst sDV dks i wj k dj us esa 5 ekg l s vf/kd i j  10 ekg l s de l e;  fy ; kA
III. vfer  dks Bhd l s ; kn gS fodkl  us vi uk i zkst sDV i gys o"kZ ds vanj  i wj k fd; kA
1) l Hkh I, II vkSj  III , d l kFk   2) dsoy  II 3) dsoy  I vkSj  II 4) dsoy  I vkSj  III 5) buesa l s dksbZ ugha

183. vuq] euq] j fo] l kfgy vkSj  eksfgr  , d òÙkkdkj  est  ds fxnZ dsUnz dh vksj  eqag dj ds cSBs gSaA j fo ds r qj ar  ck, a dkSu gS\
I. euq o eksfgr  ds chp dsoy vuq cSBk gSA
II. vuq euq ds r qj ar  ck, a gSA
III. l kfgy euq ds r qj ar  ck, a gSA
1) l Hkh I, II vkSj  III , d l kFk   2) dsoy  II 3) dsoy  II vkSj  III 4) dsoy  I vkSj  III 5) buesa l s dksbZ ugha

184. l qcks/k] uhj t ] r kj k] ehuk vkSj  vuhy esa l s ysDpj  ysus okyk i gyk O; fDr  dkSu gS\
I. l qcks/k ysDpj  ehuk o uhj t  ds i gys ysfdu vuhy l s i gys ugha ysr k gSA
II. r kj k ysDpj  ysus okyksa esa l s i gyh ugha gSA
III.ehuk ysDpj  ysus okyksa esa l s vk[ kj h ugha gSA
1) dsoy   I 2)  dsoy  I vkSj  II 3) dsoy  I vkSj  ; k r ks II vkSj  III
4) l Hkh I, II vkSj  III vko' ; d gSa 5) i z' u l Hkh r hu dFkuksa esa nh xbZ t kudkj h ds l kFk Hkh gy ugha fd; k t k l dr k

185. X ds l anHkZ esa Z fdl  fn' kk esa gS\
I. Y nf{k.k esa gS X ds, vkSj  Z i woZ esa gS P ds t ks Y ds mÙkj  esa gSA
II. X ds nf{k.k esa P gSA
III.T ds i f' pe esa P gSA
1) dsoy  I 2) dsoy  II vkSj  III 3) l Hkh I, II vkSj  III , d l kFk
4) dsoy  I vkSj  II 5) bueas l s dksbZ ugha

funsZ' k (i z- 186-189): uhps fn,  x,  i z' uksa ds mÙkj  nsus ds fy ,  fuEu l wpuk dk /; kui woZd v/; ; u dhft , A

A, B, C, D, E, F vkSj  G , d d{kk ds l kr  fo| kFkhZ gSaA os r hu csap&I, II vkSj  III i j  bl  i zdkj  l s cSBs gSa fd i zR; sd csap i j  muesa l s
de&l s&de nks cSBs gSa vkSj  i zR; sd csap i j  de&l s&de , d yM+dh gSA C , d yM+dh gS vkSj  og A, E r Fkk D ds l kFk ugha cSBr h gSA
F t ks , d yM+dk gS] dsoy B ds l kFk cSBr k gSA A vi us l cl s vPNs fe=k ds l kFk csap I i j  cSBr k gSA G csap III i j  cSBr k gSA E HkkbZ
gS C dkA

186. d{kk esa fdr uh yM+fd; ka gSa\
1) 3 2) 4 3) 3 ; k 4 4) fu/kkZfj r  ugha dj  l dr s    5) buesa l s dksbZ ugha
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178. How many persons are seated between T and S?

1) One 2) Two 3) Three 4) Four 5) None of these

179. P is related to V in the same way as C is related to F. To which of the following is E related following the same pattern?
1) B 2) D 3) C 4) A 5) None of these

180. Which of the following is true regarding F?
1) F sits second to the right of C 2) F is not an immediate neighbour of A
3) F sits third to the left of B 4) F sits at one of the extreme ends of the line
5) F faces V

Directions (Q. 181-185):  Each of the questions below consists of a question and three statements numbered I, II and III
given below it. You have to decide whether the data provided in the statements are sufficient to answer the question and mark
the appropriate option as answer.

181. How is A related to T?
I.    A’s father Q is brother of S. S is T’s wife.
II.   A is son of Q. Q is brother of S. S is T’s wife.
III. T is father of two children.
1) Only I 2) Only II 3) Only I and II 4) Only II and III 5) None of these

182. How many months did Vikas take to complete his project work?
I. Mahesh correctly remembers that Vikas took more than two months but less than seven months to complete his

project.
II. Pinki correctly remember that Vikas took more than 5 months but less than 10 months to complete his project.
III. Amit correctly remembers that Vikas completed his project within the first year.
1) All I, II and III together    2) Only II 3) Only I and II 4) Only I and III 5) None of these

183. Anu, Manu, Ravi, Sahil and Mohit are sitting around a circular table facing the centre. Who is on the immediate left of
Ravi?
I. Only Anu is sitting between Manu and Mohit.
II. Anu is on the immediate left of Manu.
III. Sahil is on the immediate left of Manu.
1) All I, II and III together   2) Only II 3) Only II and III 4) Only I and III 5) None of these

184. Who among Subodh, Neeraj, Tara, Meena and Anil is the first to take the lecture?
I. Subodh takes lecture before Meena and Neeraj but not before Anil.
II. Tara is not the first to take the lecture.
III. Meena is not the last to take the lecture.
1) Only I 2)  Only I and II 3) Only I and either II or III
4) All I, II and III are necessary 5) The question can’t be answered even with the information in all three statements.

185. Z is in which direction with respect to X?
I. Y is to the south of X, and Z is to the east of P who is to the north of Y.
II. P is to the south of X.
III. P is to the west of T.
1) Only I 2) Only II and III 3) All I, II and III together
4) Only I and II 5) None of these

Directions (Q. 186-189): Read the following information carefully to answer the questions given below.

A, B, C, D, E, F and G are seven students in a class. They are sitting on three benches I, II and III in such way that there
is at least two of them on each bench and there is at least one girl on each bench. C, a girl student, does not sit with A, E and
D. F, a boy student, sits with only B. A sits with his best friend on bench I. G sits on bench III. E is brother of C.

186. How many girl students are there?
1) 3 2) 4 3) 3 or 4 4) Data inadequate 5) None of these
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187. C ds l kFk dkSu cSBr k gS\

1) B 2) G 3) D 4) E 5) buesa l s dksbZ ugha

188. fuEu esa yM+fd; ksa dk , d l ewg dkSu&l k gS\
1) BAC 2) BFC 3) CDF 4) BCD 5) buesa l s dksbZ ugha

189. fdl  csap i j  r hu fo| kFkhZ cSBr s gSa\
1) II 2) III 3) I 4) I ; k II 5) buesa l s dksbZ ugha

funsZ' k (i z- 190-195): fuEu l wpuk dk l ko/kkuhi woZd v/; ; u dhft ,  vkSj  fn,  x,  i z' uksa ds mÙkj  nhft , A

Hkkj r  esa pkyw o"kZ ds nkSj ku di kl  dh [ ksr h dk {ks=k 15% de gks x; k gS D; ksafd di kl  mxkus okys fdl ku vU;  udnh Ql yksa dh
[ ksr h dh r j Q pys x,  gSaA ; g fl r Ecj  2008 ds ckn fo' o ckt kj  esa di kl  dh Hkj ekj  vkSj  fo' o vFkZO; oLFkk esa eanh dk i fj .kke gSA ysfdu
bl  i fj n'̀ ;  l s bl  m| ksx ds , d fgLl s] /kkxk mRi kndksa dks ykHk gqvk gS D; ksafd mUgsa muds mRi knksa ds fy ,  mPp ewY;  i zkIr  gqvkA dqN
/kkxk mRi knd fi Nys o"kZ de&ewY;  ds di kl  i j  vVds gq,  gSaA bu l cdk l fEefyr  i zHkko /kkxk mRi kndksa ds ' kq)  ykHk vkSj  ' kq)  cpr
esa òf)  esa fn[ kkbZ nsr k gSA

190. mi ; qZDr  i fj PNsn esa dgs x,  r F; ksa l s fudkyk x; k , d vuqeku fuEu esa l s dkSu gS\
1) fl r Ecj  2008 ds ckn l wr h oL=k m| ksx esa r hoz òf)  gqbZA
2) l wr  mRi kndksa dks fl r Ecj  2008 dh vof/k esa vkaf' kd gkfu gqbZ gSA
3) i woZ esa Hkkj r  l cl s cM+k di kl  mRi knd FkkA
4) vkus okys o"kks± esa di kl  mRi knu fuf' pr  : i  l s c<+sxkA
5) buesa l s dksbZ ugha

191. mi ; qZDr  i fj PNsn esa dgs x,  r F; ksa l s fuEu esa l s dkSu&l k fu"d"kZ fudkyk t k l dr k gS\
1) vc di kl  dh [ ksr h ds {ks=k dks dHkh Hkh fl r Ecj  2008 ds l adV dk l keuk ugha dj uk i M+sxkA
2) pkyw o"kZ ds nkSj ku di kl  dh vki wfr Z esa Hkkj h deh vkbZ gSA
3) vesfj dk di kl  dk l cl s cM+k mRi knd vkSj  mi HkksDr k gSA
4) di kl  mRi knd di kl  ds mRi knu esa vc : fp ugha j [ kr s gSaA
5) buesa l s dksbZ ugha

192. fuEu dFku ds ckj s esa ge D; k dg l dr s gSa\  ßfi Nys o"kZ fo' o ckt kj  esa di kl  dh deh j gh gSAÞ
1) fuf' pr  : i  l s l R; 2) fuf' pr  : i  l s vl R; 3) l aHkor % l R;
4) l aHkor % vl R; 5) dqN ugha dgk t k l dr k

193. uhps fn,  x,  dFku dks fuEu esa l s dkSu et cwr  dj sxk\  ßl wr h /kkxksa ds c<+s gq,  ewY;  ds dkj .k vxys o"kZ fdl ku fQj  di kl  mxk, axsAÞ
1) l j dkj  di kl  l fgr  udnh Ql yksa i j  vuqnku c<+kus dh ; kst uk cuk j gh gSA
2) vkar doknh /kefd; ksa ds dkj .k i wj s ; wj ksi  esa gkbZ , yVZ gSA
3) oSdfYi d udnh Ql ys l nkcgkj  vkSj  vkfFkZd eanh l s vi zHkkfor  gSaA
4) l j dkj  fons' kksa l s vkSj  di kl  vk; kr  dj us dh ; kst uk cuk j gh gSA
5) buesa l s dksbZ ugha

194. mi ; qZDr  i fj PNsn dk , d mi ; qDr  ' kh"kZd  fuEu esa l s dkSu gks l dr k gS\
1) vkar dokn&vFkZO; oLFkk dks , d cM+h pqukSr h 2) di kl  m| ksx esa mRFkku o i r u
3) fl r Ecj  2008 ckn dk Hkkj r 4) vesj hdh vFkZO; oLFkk esa eanh
5) buesa l s dksbZ ugha

195. mi ; qZDr  i fj PNs ds dFkuksa l s fuEu esa l s dkSu&l k vuqeku yxk; k t k l dr k gS\
1) Hkkj r h;  vFkZO; oLFkk fdl h Hkh oSf' od eanh l s vi zHkkfor  j gh gSA
2) oSf' od vkfFkZd eanh l s fo' o esa Hkkj r  l okZf/kd i zHkkfor  FkkA
3) fl ar cj  2008 i woZ vof/k esa fo' o vFkZO; oLFkk esa òf)  dk : [ k FkkA
4) l j dkj  dks di kl  ds mRi knu dks gr ksRl kfgr  vkSj  vU;  udnh Ql yksa dh vksj  t kus dks i zksRl kfgr  dj uk pkfg, A
5) buesa l s dksbZ ugha
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187. Who sits with C?

1) B 2) G 3) D 4) E 5) None of these

188. Which of the following is a group of girls?
1) BAC 2) BFC 3) CDF 4) BCD 5) None of these

189. On which bench do three students sit?
1) II 2) III 3) I 4) I or II 5) None of these

Directions (Q. 190-195): Study the following information carefully and answer the questions given below.
Cotton acreage in India during the current year has fallen by 15% as cotton growers have moved on to cultivation of

other cash crops. This is the result of the cotton glut in world markets in post-September 2008 and the consequent slowdown
in the world economy. But this scenario brought with it benefits to one segment of the industry yarn manufacturers as they got
higher prices for their produce. Some yarn manufacturers too had stuck up on low-priced cotton last year. The combined effect
of all this is evident in the rise in net profits and net margins of yarn manufacturers.

190. Which of the following is an inference which can be made from the facts stated in the above paragraph?
1) The cotton industry grew tremendously post-September 2008.
2) The yarn manufacturers have marginally suffered during post September 2008 period.
3) India was the largest cotton producer earlier.
4) Cotton production will surely grow in upcoming years.
5) None of these

191. Which of the following conclusions can be drawn from the facts stated in the above paragraph?
1) Now cotton acerage will never face a crisis like the crisis of September 2008.
2) There has been a huge drop in the supply of cotton during the current year.
3) USA is the largest producer and consumer of cotton.
4) Cotton growers are no more interested in production of cotton.
5) None of these

192. What we can say about the following statement? “There has been shortage of cotton in the world market last year.”
1) Definitely true   2) Definitely false   3) Probably true 4) Probably false   5) Nothing can be said

193. Which of the following will strengthen the following statement? “The farmers will again grow cotton next year due to
increased price of cotton yarn.”
1) Govt plans to increase subsidy on cash crops including cotton.
2) There is a high alert in entire Europe due to terrorist threats.
3) Alternative cash crops are evergreen and unaffected by an economic slowdown.
4) Govt is planning to import more cotton from abroad.
5) None of these

194. Which of the following may be a suitable title for the above passage?
1) Terrorism–A big threat to economy 2) The rise and fall in cotton industry
3) India post-September 2008 4) The slowdown in US ecomomy
5) None of these

195. Which of the following inferences can be drawn from the statements in the above passage?
1) Indian economy has been unaffected by any global slowdown.
2) India was affected most in the world due to global economy slowdown.
3) The world economy witnessed an upward trend during pre-September 2008.
4)  Govt should discourage the production of cotton and encourage shifting to other cash crops.
5) None of these
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funsZ' k (i z- 196-200): fuEufyf[ kr  gj  i z' u esa ; fn ; gh Øe t kj h j gk r ks nkfguh vksj  nh xbZ i kap mÙkj  vkd f̀r ; ksa esa dkSu&l h mÙkj

vkd f̀r  ckb± vksj  dh i z' u vkd f̀r ; ksa ds r Rdky ckn vkuh pkfg, \

i z' u vkd f̀r ; ka mÙkj  vkd f̀r ; ka

196.

1 2 3 4 5

197.

1 2 3 4 5

198.

1 2 3 4 5

199.

1 2 3 4 5

200.

1 2 3 4 5
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Directions (Q. 196-200): In each of the questions given below, which of the following five Answer Figures on the right

should come after the Problem Figures on the left, if the sequence were continued?
                               Problem Figures Answer Figures

196.

1 2 3 4 5

197.

1 2 3 4 5

198.

1 2 3 4 5

199.

1 2 3 4 5

200.

1 2 3 4 5


